For Private Circulation Only

Study Circle Career Development Institute

HERTY JSTATT ARRY HaT GauRI& 2033

AMRI 3T YUR-9 1St SUYh

Uﬂd

ClIRCILE

P N 2 R S LR e KA G Bl
HERTY 30T HRT — MR ISTHROT SATfOT IR

HERTE ISTARRT ARRY HaT GEuRIaT ARRT : R IISTHRUT 30T o / 9



UERTY ASTURT AR T JEuRien : AR S1eads U0 (9)
HRAT IISTHROT AOT ST 94 g e

q) WU - YR ISgEeET ATAfid 1R (3)
) IS AT (3)

3) OOt ST 3MOr oTeNt o1 (3)

¥)  ATdST<D 9RoT (3)

Y)  HIE g% WHT(3)

q) W™ - YR ISTee-aT UTRIfid 319 (3)
9) RN I5TgST B TR et — Afdu™ Fqun, |, A, ki
) HTTA R YT 9 awl, el I, oo aftned, |SfuTdie seardt ded, aRfee
3) TR, AAUFITD AT AT Hee

Q) XTSTHIT He=AT (3)

¥)  he-Iog HeY, Yoy R, Tde =i

4) PR HRIGINGY, FAG, ISTHRT ver 3T aIa T

&) YU IR, U JIHAl g HiFHees — YT, AR 9 BRI, 5T fAftHes - R,
ARy @ @ Aew, AR, BRI 9 YFrer, faet Hter

3) Ty XToT 37T oTEY 9T (3)
V) AP TERISY AU / JaRId JIoTd! Ishidl, 03 dt ST v d gov!
¢)  UHUERd, Il TR, Negl giReg 30T I e R
R)  ATRY/ et A — R 3T faee, fieRt — gadht 9 Ulet M

) ATdST+Iep &R (3)
90) HgwH HRIS, FrM
99) TR — AGSId R IfOT PRI
9?) T GCH, TaTHT FRAS HeFpRoT

) ATt gem W (3)
93) AT §F STERAHAT
98) FT SIPR, e P, ISTURUE AFiGed awi- e, FmH fiedie e
9Y) ISR A g AN — AU, TICeT, TRt

HERTE IISTART ARRY HaT GEuRIa ARl : R IISTBROT ST1OT TR / 2



?)
3)

4)

9)
Q)
3)

4)

HERTE ISTURT AR AT Jdasian 2033
IR SIRIRTICH : MR ISTBRUT JAOr 9T

Al - YR STee-=T UTRIfid 3% (3)
]ISThIT FawAT (3)

YTl T 31Tor STEt 9T (3)
ATSTfeh ¢R0T (3)

qTTdT ges HT (3)

(9) WRYM - VRO ISTgc= AP I

(9) SfReERTT, |, afte, R
fafeer provTcier GfRAUmTRR Schic 9 dRIC
Afaer [T for affer
GICRIEICREI|
I g

() SRYUFTRN YR, S5 3MOr Feryd AfIE, PHem

HRI ST FRAHT / IATGT / SeeTafehT ~ FRATaTHRTE YfdeT g o
R Afeemred Terye )T - feH s

Afea Tt g afdre

Wi Agardt HoH d aRAG! - AT Wi

Afaemr aRfeee

(3) HCAIGHRK, HfAUHICTD JTTART T HSs
TAIGERI AfShT d HEwTed TeIge™edl

iU SRR - {37 3T, Rasu[e STNT, |AihwaT STRIRT, THUHRAR, TN, ToRitaedt

Heware GRS U

fafay fTRacaTHs AT, 3R, TS — AT g2 STRINT, AfgeT SRR, HATfgcl STRINT, el 3TN

() STHT A=A

(8) FHg-rT ey, Iy Ak, wads ~amrerazen
s g -1 HaY
YRAT T HERTST SR
g1 U1 ey
hg -1 UATHHT HEe
g1 i HaY
favrfta aRee 7 3R -3roa uRee

HERTE ISTARRT ARRY WaT GEuRiaT ARRT : HRR IISTHRUT 30T o /3



%)

9)
Q)

9)
Q)
3)

4)
&)

9)
Q)
3)

4)
&)

¢)
R)
90)

?)
3)

g - AEUTETETS AN

s 1oy fAfedt
fafarer s
RreafAfdrea gegewar a HrRIe

% AT I

[at" =R

S IR

I AR

APUTe, NPT, AT

faeht favm, e IS

=araTerRi= ufdsar snfor e

rTerRi= YAfdate, T, SHfed aTfeeT  afthaar

(4) et wrRiERR, Wag, b gar 3nfir gamg Te
3 She 1T PRITRUT
RTETT 70T SURTEYC
YRATAT FgFaarc!
YRATAT AR 9 AgTeiraTiRieis

£ W
RTSIRTHT T ANDHHT
ST BB
TG At

3 TSTEhIY Y& ITFOT IaTd 7T
RISThIT U8t ATfOr g91a 7Ie
frasuges g=rom g ufdsan
Rasudhiiter dAFRT

(€) T WRBR IfOT TR - FRIBRL, fAftriss
3 AT HRIGR 78S — SIS, TEIHA 9 Af3Hs®
RTSIUTes — YfHenT, fHR g B
T g JiHse - YT, PR g Hrf
]ISATT AT SrahT
g Afarer™
% A fAdiHss

HERTY ST ARRY HaT GAURIE AFRA : R ISTHROT 0T o / ¢



4)
&)

¢)

?)
3)

9)
Q)
3)

9)
Q)
3)

9)
?)

fauraur - afteR, BT Y
fauraReg - sifteR, SR T Y
faefiise wmerer anfor faeh affen
faefiiss affr

(3) YA TST STfoT 9Tt 9TRT (3)

(19) TR RIS AT Ieshicit, 03 &t AMOT vy S FHwA
YOI TSt SEhict
JIId SIS A
(¢) UHUERIC, diddT Yard, foregr aRkug snfor amfaerT
3 TTHIT ST RS AT
JTAHT ATFOT I
DT qerrd
SregruRue
DIEICCaR ISR eI
3% TR TRATAD RIS HRRAT
TRUARI, WRURYS g Bravit

HERYTfeTenT
TR RS 9 TRfAEN

(R) foTeaT Horht g UichiRg UIRIA, AR R 9 fAwr

Rregr getdh! e
CICiR R I

(8) V&SI SROT
(90) 7E BRI, P

AT FRETANIS BRI

Hifecht sifdrepr srfafHam

HERTY ATdSTIIe oAlhaaT ge AT, 2094

q) PRI Feard! b g e TRag

Q) pruenell Fefd I T IMeBRY

3) PRIl ¢l d govdl, 3fdlet, PRIam Ihidl d goR FTl

(99) TR — ArdSIAG R0 o1 Hrishq

QrdSifAes R0
T BRI

HERTE START ARRY WaT GEuRIaT ARRT : W IISTHRUT 3170 o / 4



3)

4)

9)
Q)
3)

4)

9)
Q)
3)

yreftor fdeera
IR GIRVT g Fiaem
drerfores RvT 9 fAprT

(92) T T, TN AERATD AEFHIRRUT
s 3101 gt e, TR AT e
STeTh g Afgeri arHIeRur
SFRIfer ST, STt
PR, ST ARIRS § TheTdT o
gaT wearor g $eifores wamiaor

(4) 9§55, AUAT 9 SIETES=AT

(93) At §85 SATERART
A geprd ATd s BT g SIATfare R
HIA! g2 RET0T/ M1 e Hicier ara
A 886 HTFhT Mieu e ~=arrerie fAdrer
(9%8) FAYd SHR, A FHid, ISIURCITE Arigefd aw

(94) IR AFEL §ep IRINT — GACHRIRL, TAUHCHRT, Ueiieidt
I g ST A g8 MR

G 1850 2 2 R L T k< IR RS T K

HERTE IISTART ARRY HaT GEuRIaT ARl : R IISTBROT ST1OT TR / €



9)
?)
3)

4)
&)

¢)
R)

HERTE ISTURT AR AT Jdasian 2033
q00 HEWE He : WM 374+ UuR (9)

q) YRR SAERT O YRR SR TIas (94)
TN YR 3faert (8)
e HReTe $ier (3)
3 YRaTe sfogr (8)
WRAT ITHT 595 ()

Ryg @R afor grifcrRRies e

i <ieael, dg afr o e

ATCTdTE, dleplee, A, e, IR 3T Ired, e WRd
fagt Hedd 3T gael T

Teh! SATOT o T

TEMHT AT fISRIR, ARIST Ao

3relr - foifcer g amfon faifeer Iofae

EeAIcHD BIIS, RN, PR

ISR g UTfHich FURUTT, FecT

fereror, gt S7for A

RTFIIGTT 3, PRI 3MfT Hgw@rd =Id

HifcIep R TFATG, Dt 3N HHIR T

I T — el SRIEdNT, |l PRISHT, YR BlS!
gt oflT 0T gk, TIGRIRR HR AT FYch HERTY

3) HERIY, WRA SO SIATfD e (94)

ST Hifore 3t (3)
STTTEIT AT e (9)
ST STfRfes e (9)
R e 3t ()
IR AT et (9)
R 3ATffeh et ()
TERTETET e 3t ()
TERIETET ARISTES et (9)
HERTET 31T 3ited (9)

HERTY ST ARRY HaT GIURIS AR - R JISTHROT 0T e /



9€) AT AT geaht, arafier, @S, I

90) Y 3T ST, Hiifere AR, e AT Tehed

9¢) dITERYT SO A, IRT AT AERIRR HeTg

9%) SRR AIHEET, HINT, G, HRIfeIh ISTDBIRI, ST FI AT T

R0) STATRIp @ 30T Foft AT, IENT, aTEeeh A0 Wi, aeiiepur ST gaifervr, it
29) YRR SUESIcilel Jhic! S0 YRR

Q) TE HIfcrp UeeT - fRHTerd, 9ad, UoR, disdc &, Rl 9T, o, eI ST Heped, Ursd, g
23) SANHRRT, TS, ST A o1, WHMferes oTepRor

28) AR : PN, IRy, WS M7 Fort F=Te

RY) ART : I, ATEID M R, IR, AUR

2%) RIS 3T AT UdeRT, eI SMfor ey

20) WeH, T, Uih, =R

) ATPET, FAATIR, IAT 30T STHTC

R) HERTY ; HHfl, IR, Wivor 3T Soit Fames

30) HERTY : TN, ATED SN R, TR, AR

3) HERTY 01 YR — YR IISThIRUT 0T 9TRIE (9Y)

9) faur (3)

)  ISTHIT FG=RAT (3)

3) T RTST MO ARRY TR (3)
8) QTSI R (3)

Y) A e AT (3)

39) wfdurRryT, @, |t fore

3?) TIRRITET, 335e SATOT HereT e, wgward! derd

33) TCAIGERIT, STRINT T H5

38) Pg-IST Y, T I, AT

3Y4) P priAIRY, fAftrss, get anfor e 1@

3§) ST WP ATIOT JRIA

30) TETIC ST Shict, ©3 dF ST vy dt gewit

3¢) AU, ATeT varad, Rregt ulRug ooy yrfaery
3R) 9TER} MeTRIA — AT 31for Ay

o) HgwT BrIq, fFaw

¥q) TSI~ LR ATV HRIFT

¥2) GdeT Tedh, TN AT WeTHIRvoT

¥3) AT ge STER-HT

8%) HeTd AfAUBR, ATigee T, Heryd Heied

¥Y) ITSAT AT g5 IMTART — TR, THowdReY, it}

HERTY ST ARRY HaT GIURIS ARl - R JISTHROT 0T R / ¢



¥) 3rffes 3nfor Ao AT (9Y)

q) emsEd fawrT ()

Q) IRE ()

3) ST ()

¥) AP ()

) AT S ATcter SUshd ()

€ ) YR 3rfea=er — |rdsifae a1 (9)
©) IIFI AR (9)

¢) SiféT, HEwTTs (9)

]) &M (9)

90 9reit (9)

¥, aTe 3T fdy — MDG, SDG, Macro Economics

89) 3N GuREm - fafdy gehmc Aaar g e

8¢ ) TRETET HepedT, ASHIY M7 g, TR e PRI
¥Q) ISR, STRI BRI SRAVIR Teh

go) fafder afRra Terar Aeula AdaHIghT

49) AfEET, Jol, R ARG T FHIdleT BRIHT

YR) ATPHRIT — FRATHD AT UMD TSR]

43) NPT T, SPRT YIROY

yg) foTer, STRF, ARG &M AT dT6

44) HENTS — RO, gRumE, T, Su™

4¢) gdeifren fo ofr foila I - o=, anie, faxfig aRo
YY) INTCRITEIT 3TRIATRE ST CRIIFT Higdel IoAD

y¢) fdr - ohfee enfor At urferdt

YR) RETT JTNT, TR e i Far &=

go) Pt 3nfdr oy famrT - PR &

4) gRIRARTH, Sg-fafdedr snfor gam= 95 (90)

q) gRFRARH ()
Q) Safafawar ()
3) T g (Q)

£9) SPIRNCH — ol RS, 3= ARIS! IO i1, AT Th
&) TITeRUMT SRige, HatH, ST gafaRur gRea, $3TIY
§3) Slafafydr - YRATA FhedT, YR, awIsia for =Rl
§8) STMIRTY 30T IERT T, TE Tehed, TATARUT PRI

£4) Teliget difdfT - gRag gRumme Hieiig Sor M yfe
&%) TIGHUT — g1, UTufl, AT, tal. ARt R, S QU

HERTY ST ARRY HaT GAuRIe AFRA - R ISTHIRT 0T e / §



¢) WM fasm (94)

&) TIfcTefieTar, ST, Tast — Uahrel, &1, Seiqemiicd TUTcH

£¢) T, S, wietame onfdT sicRTes faeT

£3) SMRRAE - gelagiFa, SRy 3nfdT T T, Wt Hifga
Yo) TG ARV - YT M7 FFHeed

¥q) IS AR - 3T, &R, |G

V) WHfCT TATTIRT - FIYHIE, Dlch1ed, S84, IR, Td

93) UTOGTT gffepvuT ST ISTERol, UTuaie SRR 3N IRRIIS
98) IuGeh IIOT EHIPRD HToft

©Y) TR RfARUT 3T ISTERYY, TR SRR 3T IRRfAsT=
V) IuGeh IUT gl Rep It

V) SMZPIT — Afed A, b 3mfor wa, gft Fawema—

9¢) TYHTLH, TUREATT, FEeUTe, Haldred AT Hererdt

©R) HFE! 9RR Uumelt — CNS, CVS, GIT

¢o) AME! SRR HUlletl — FRPeIR<helcd, AT, I Tl

¢9) IR 3T W — daex, Toie, e, TR 3T HRispH

¢?) 3wy anfor siwer

¢3) 3 SO WSO — Hgpl, &, @i, Stiaerw

¢8) WRATHe faeie 3T GsTHwlier e, v, Jeife

¢y) fasr ey, TSGR GRS gfaerr faerT

) TTe] TSTIST, IMEY STIOT TR Fed (9Y)

¢%) SITfcreh fRaR aRee, AREMT Hes, Faeuehr, AMdl g8 FHRIT

¢9) I~ YR BT, Tgdrd grrerdis oy, srciem, ohi e

¢¢) SMARRTET HeeAT - UN, ASEAN, BRICS, European Union, G20, OPEC

R) IET / HERTY RNl SHECAHD d AUcHD aTel!

R0) SRR 3RIBRUI — SAAIfD db, IMF, WTO

R9) IR / HERTY IMAPRU — IR ITH, AP HrRishH

}R) JEMeh Tl - 3iaRTe faei, wened, BT, ICT

’3) NTER / HERTE — ol SA0T g3hT, R, YRl

RYy) HIMfeTs T — =, WHT 3o Fas, ST JMor Hewar e, 3ot

RY) VT / TERIY — ©RO 1N epey, ST 3fOr Her

R¢) RGP TeMIe! — 1, Fiftd, fede 3nftr Scaa

RW) ShIST ARP TP TEFIS! —3ietueh, JAMRRITE Wes, ellcad, gl sefticd, Jfadw, fhae, Fedld, cFa
R¢) RIS TeMIE — TR, JAHFTA

RR) FHUET T HEw@eA] Rchi— SRS /ISR /HERTY - =d, 37ege], Udue™, Joa!
qoo) JREPR g A — JTRRIER /I /HERTY — TR REPR, 2R, fEe, dfee

HERTY ST ARRY HaT GIURIET AR : HRRT JISTHROT 10T 1 / 90



HERTY SIhAal JRIRT
HERTY ASTAFIT AR WaT ORI : AHRT T IR (9)

R IISTHRYT ST TR 94 HEWT He,

q) WU - YR IsgEeET ATAfid IR (3)
) ST AT (3)

3) YOI RToT 31O 9TeRY o1 (3)

¥) QTSI 8RoT (3)

Y) AT e AT (3)

q) W™ - YR STee-=T UTRIfHd 31T (3)
9) RN I5TEST B TR et — Afdu™ Fqur, A, A, i
) T R YT 9 aw, el I, oo afitned, |Sfurie seard! ded, aRfie
3) TR, AAUFICTD SR AT Hee

Q) JTSTHIT AT (3)

¥)  he-Iog HeY, Iog Hffd, Tdd <aRereRen

4) Dol PRIBINUT, TS, ST 8T 3T &1 I

&) XU IR, YU JIHA I HiEHEs — DT, AR 9 BRI, Y fAftHees - T,
fauraReg g @ AR, SMftpR, BRI g Yiwrer, fael At

3) YT ITST 3ATfOT QTR ORI (3)
V) AP TERISY AU / JaRId JIord! Isbicl, 03 ot ST vy d govd!
¢)  UHUERd, Il TR, STegl giReg SI0T JTH e R
Q) ANRY/ et AT — %1 3MOT faem, fSieRt — ol 9 Ulet M

) ATdST+Iep &RT (3)
90) HEWH BRI, FRM
99) YA — HTASI-h &R0 3O BRI
9?) T TCH, IaTHIT FRAS HeFpRoT

) ATt e W (3)
93) AT §F STERAHAT
98) T SIPR, o P, ISTURE AFiGed aw- e, JHmH fiedie e
9Y) IS HFR Ber SN — THORRIRA, TICRCRA, Gttt

HERTE IISTART ARRY HaT GauRiaT ARl : R IISTHROT 3107 oI /99



?)
3)

4)

9)
Q)
3)

UERTY ST ARRT Hell JEUIel 2033

R JISTHRYT SMOr R 94 TEar™ He,

Al - YR STee-=T UTRIfid 319 (3)
ST FawAT (3)

YTl T 31Tor STEt 9T (3)
ATSTfeh ¢R0T (3)

qTTdT ges HT (3)

(9) GfRUE - YRATAT TSTEe=T UrIfie 3 (3)

(9) dfeerrayr, 94, 9, R

fafeer e AU Sehid! 9 PRI
Afaer w4 sfor affen

S IELIEIEEE G

RTgH forg

() T TRaTaET, 3% NfOr Feryd Ao, FHem

HRT ISHECET FRATHT / UATGT /. SeeTaf3ehT — FRATEG-HRTE Yot g o
HRH ARG ey X1 - et s
feuTTe See afdreRr
G Hgwardt HoH I A=At - FiaUT AT
sifaerren aRkfere
(3) TCAIGHI!, HfAUHITS SN A T

GG Ul a Hgwared ge-Ige™eal
HIRYTATHS AN - < SMIRT, TS TR, eicwar SRIRT, THGwRdt, Taowdidt, wefidieht

HEaTd! GRS ue
fafay faRecATcS AT, 3N, G50 - HIFE! g2 TR—NT, Higel SI™ART, A1fgd! SIRT, et 3T

() I=Th A=A (3)
(8) Pe-IrT ey, o7 AR, aaa <rrega=en
3% Shg—ITog HaY
YR HERTST AT
g e dey

Hg—ITST UIRIHIT WY

HERTE IISTART ARRY AT GauRia AT : HRAR ISTHIRUT 10T e /9



¥)  he-Iroy I Gy
y) fyrha Ry 7 sriar-Isa aRye
§) hg-IoT AaUTETETd SR

3% oy A

% AT I
q)  [arE AR
) SN
3)  gEEEeR
8)  AIPUTd, BT, =R
g) fAeh fvm, PrEm IS
€) IR ufhar snfor fReprer
©) TR YAfddie, e, SHfRd arfieT 7 afgsadn

(4) et PrIcIRUY, Wi, IoTh Y&t ol gamg e

3% g BRIBIRO

q)  TEYST or SURTEYE

) YAuHTH SMfo HAHSH

3) YR HgRIgara

¥) RGO AREP T HETeraTINIeTdh
:}:W

Y)  RTSTANT T ANDIHT

§) WIS BB

V) wWer A
3 ST U&7 ATfOT S91d e

¢)  ISThIY uet Jfor < rg e

R) fasu F=rvm g ufdhan

90) fAgsUhIda HER

(£) ST WRBR 31 YA — FrRipRY, fAfdriss

% ToAT PRIGR A6 — ITUTS, TEIHA! T AfHss
q)  RTSIUTS - YfHehT, AfUHR g B
) qEgHA g S - YA, SR T HH
3)  IrogTaT HEIfeEh!
g) o9 AfaEe™
% A fAdiHss
4) fauraur - PR, B T YfAdT

HERTE IISTAFT ARRY HaT GEuRia At : HRR IISTBROT 10T ST / 93



%)

¢)

?)
3)

9)
Q)
3)

9)
Q)
3)

9)
?)

9)

fauraReg - sifteR, SR T Y
s wmepTst nfor faeht Wit
v aff

(3) Y=l ST 3foT oTest oA (3)

(19) TR FEARTST WEAT Ioshicil, ©3 &t 3O vy & goedl
YT RToTd | SEhidt
JIId SIS A

(¢) AMYERIE, ATt Yardd, fStegr aRug snfor amfdsra
3 TTHIOT ST RIS AT
JTAHT ATFOT I
GIGGAREING]
RregruRug
AHfABRIT IO
3% TR TRATRD RIS FRAT
TRUARI, TRURYS g Bravit
HEMRYTfeTehT
TR Ao 9 RfAPRT

(R) foTeaT Herdht a UTelist UeTRIA, AN W1 9 fahrT

Rregr gerdh! e
CICiR R I

(8) Wi gROT
(90) AEER BRI, A

AT FRETANTS BRI

Trfech srftrmR srfarfw

HERTY ATdSIIe oAlhaaT ge AT, 2094

q) PRI Fgard Per T e TRag

?) DrIErelt HefRid IAT g IfBR

3) PRIl I d govdl, 3fdlet, PRIam Ihidl d goR FTl

(99) U9 — ATESI-Ieh ST 31O BrRishH

QTSI R0

HERTY ST ARRY HaT GIURIET AR - R JTSTHROT 0T o / 98



Q)
3)

4)

9)
Q)
3)

faerT PRI

arior AT

TR GIRVT g Fiaem
e1forep enRur g fara

(92) I e, TR AT HEHIRRT
s 30T gt e, TN AT HerHIHRoT
STeTeha g Higerra aTHieRur
SFRIferT ST, STt
PR, U ARIRS g HheddT o
gaT HeaTur g $Teifore e

(4) 9§55, AT 9 SIETES=AT

(93) I §86 STRIRATT
AT geRTe ATa3eh SN0 g STTforeh U
AT §28 ARETUT / W1 HaYicier aTel
AT} g2 HIFPT U Tcies —ArTerRiS fReprer

(9%) JeTHd SIUBR, AT Feicd, ASTURVITE ARIGHD aw

(94) IR AFET 8§85 STRINT — UHURTRART, UHURICRIL, TARile e
I g ST T g8 MR

G 1850 2 2 R LS T k< IR R T K

HERTE IISTART ARRY HaT GEuRIeT ARl : R IISTHROT STfO0T TR /94



uAMad

q) U g AIReME! - I, fae
) UG fAHTT g =T

3) e

¥) UNIhI PRI d fAaH

4)  TATRID HHBST

JEr RIS g SIS

9) YR g8 wfRar, 9¢go

) YRR RETHRICT, 9CO

3)  YRARI PR PRSI, 9¢O

¥) T §¥ITARYI BIRIST, 9¢¢R

4) RIS Wiel BIoT P IAaT, 9¢¢R
¢) famh ufshar \fgar 9jo¢

©)  HaS I IATSUATET BIIGT, 993§

¢) HHERY IS fAHT HRIET, 9]8¢

R) HERTY qraaql rfAfAa, 9]%%

90) HERIY AEFIRYTforepT JTTARTT 938

99) HERTY ATGSIE fasEw iz, 9340
9?) HERTE Uretw rfAfAad, 9349

q93) drpufafAgt sifafae, 9349

98) ATRI g AxET MfAfRTH, 934y

94) SRTReeT BIICT, 9]4Y

ag) feq faare draT, 9]4y

qu) fag sreuRiEaTeS JfOT UTeTehed PIRIGT, 934&
q9¢) fEg T i SEHTel BRI, 934

9R) g ISR BrIET, 91]4%

0) o AfAfFTH, 94R

29) HaE sitwefigad Ao aiftrffam, 9]y

RQ) S ST NI (3dtetid a1ey) fH, 9jgo

3) geredl aifaffm, a]gq

R¥) wERE el ge (frimor) Ste gemTet (fegare) fammaet, 4R
RY) TERTY iiwel g (f=7or) SreiTeeaT HofRt STTQer 9%63

) FAGTHRICT, 9%¢3

V) TERTY Jiiwef g (f=7or) SreiTweaT HofRt STTQer 9%63

¢) HIJ T BTH PRICT, 998

Q) HERTY ST HEvfer wfadT, 9%&%

30) HERIY W31 T TR a1 A&, 95§

HERTE IISTART ARRY AT GauRie AT : YRR ISTHIRUT 10T ST / 9%,



39) WERTE UTCferd nfor TR=emT 1fdfRa, 9% €
32) ImEReR el (ufdy) FreT, 938

33) S-gg AUl afafm, 9’68

38) {HM aa+ AT 9]0

34) HERTE AR et (fIra 7 ordfiss) 7w, 999

3¢) ~OIITIATT 31aHTH 1fAfRaH, 9]

39) WISIeR! ufthar |igar, 9363

3¢) AR S (Rffer anfor faffamer) srferffam, 9]ug
3R) WERTY TR e (aefuges) A, 9qu]

¥o) HERTY AFRI AaT (fare anfor srfier) e, 9%

¥q) Has I IR (I 915)) 39, 93¢0

¥Q) WERTE ANRI WaT (A= wdaremor owi) 9, 9%¢9
¥3) HERTY ANRI AT (1) fam, 99¢q

¥y¥) TYISIT BrIer, 93¢9

8Y) FERTE TR vt (fFgfraam) fam, a’¢?

¥g) 3iFet ugref 3nfor AramIeI U ueref wraeT, 93¢y
gY) TgeIarG! q faaea®mRY Sl (HfrEer) HRIET, 93¢0
g¢) faeht ar uferesvur BrRIer, 9%¢u

¥]) Hds HERRUIeiehT TffRAH, 9]¢¢

4o) YEMR UfAEY HMEIST, 9%¢¢

49) IR ST T AT ST (IR Hfcey) rfafae, 93¢}

4) T g WRET IfAfRT 9%%3

43) STRIRepgeea geel saehien (f3eamT) (T e, JrfdepR wRarn) arfafaam, 9]’y
4y) oIS STOT ATHOTR BIIeT, 933§

4y) faemar unfasie aw=r 936

yg) HERTY e TR fAF=0T HRIET, 9333

4u) TERTE TS G0 BrIET, 9318

Y¢) ST AT (AT PHrcsoit MO HRETOT) MfAFZIH, 000

4Q) I AR ufde HrIer, 00

£0) TgIITAIC UfEP PrAST, 00

€q) wifec STfdmR rfaffam, 200y

§2) PIRP EAARIIRIT Ao wRero iffaam, 2004

€3) SrAfAarg UfEY PRI, 000

%) dTeThidT AW 3MTfor |ehi=ar fareroman ge rfffam, 009

€Y4) T ATH R WIT HFY3NS Ah-Ad —UIaRT, 092

&§) YHIIUTGH, TawT STOT GAERATET SRaTT Sfer JehwT HRUTS SATf0r aRgGefdcran g i 2093

HERTY ST ARRY HaT GIURIET AR : HRRT JISTHROT 0T ST /90



v)
19
&%)
o)

©9)
0)
©3)
%)

Pt Filaﬁlﬂ?ﬁm?oﬁ

HERTE - rfafRam, 09y st
Wwﬁﬂmmﬁm; 209
TR (WAL ATOT ScgeAwic) HrIET

Rare

, 2090
qﬁﬁﬁswma(é@—w)emﬁm o
Re&ToT fAfT, 2098 ront
m:\;gm&m (o) fadas,
B

R / ac¢
gAuIET AR © IR RTSTehRoT 3Mfer

AR T

NELEIER]

HERTY



?)
3)

)

1)

)

1)

Q)

2)

(9) I=Tge= A - dtye Tw, |9, aften, /R

fafesr Frecier Gfaemrh Scpic 9 HRIQ
A a1 3for AfdeaT
RICBIEICREI|
g g
q) ffesr FrSIie AT SEhich T PRI
TR ST e 3T Isgmefiel iR faaRur a1 Tomd eiedr ToMaR MeaTRd 3Te.
9) Arei-fier Rebed, 9308 A R) AlCT-TIHIS PRSI, %98
3) IRd TRPR PRI, 9%3Y ¥) TR T HRIGT, 980

The distribution of powers between the Centre and the States in the Indian Constitution is based
on the scheme provided in the

1) Morley-Minto Reforms, 1909 A 2) Montagu-Chelmsford Act, 1919

3) Government of India Act, 1935 4) Indian Independence Act, 1947

) wfer= wur snfor wften

YR 3igRITea Fewi, Hidwkilel FAU™ T5d A ... g,
9) T AidTdiel S O fagT feet

Q) 3T oMt T SMfT g ol T ARSI Pl

3) wicg faumadgR frasel el

8) HcAHS FHUTe et HYueRTe! T SRPR Hage]

With reference to Indian History, the Members of the Constituent Assembly from the Provinces

1) directly elected by the people of those Provinces

2) nominated by the Indian National Congress and the Muslim League

3) elected by the Provincial Legislative Assemblies

4) Selected by he Government for their expertise in constitutional matters

Q€ THART 9]40 Isft ARARN HD! G R PRI Bieft ?

9) FANBATE TSTRIID R) T AN AR TSI

3) T AEYH gifRUe ABATE TSRS ) Ueh AU FHSTAG GHFRUST ATBATE! TSTRIITD
What was the exact constitutional status of India on 26th January, 19507

1) A Democratic Republic

2) A Sovereign Democratic Republic

3) A Sovereign Secular Democratic Republic

4) A Sovereign Socialist Secular Democratic Republic

HERTE IISTART ARRY HaT GEuRia Al : R IISTBROT 31107 TR /9%
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3) SifaeTr W
3T fafeer AiseaR e FHER Alene! WbRa!, g 3THT Alsel T HISeUa e B 3118 ?
37) PRIETT FSAd, fidter T Far™ fhar AEHM 3118 W IRAN, T BRI 990l SAfBR
GRIECRGS
) ARAM, FAST BRI oIl HeaAdbdel Fad el FarE ~-ITeRIGR  BeATHI81bS
EIGEUIBSICIN
ERIDIECSEE
9) (1) HH ?) () FH 3) (&) omfor (@) S ) (3n) fobar (9) N T

We adopted parliamentary democracy based on the British model, but how does our model differ

from that model?

a) As regards legislation, the British Parliament is supreme or sovereign but in India, the power
of the Parliament to legislate is limited.

b) In India, matters related to the constitutionality of the Amendment of an Act of the Parliament
are referred to the Constitution Bench by the Supreme Court.

Answer Options :

1) (a) only 2) (b) only 3) Both (a)and (b) 4) Neither (a) nor (b)

) I g

TR AR sicara, YRare drufaerea @l fofdelel Fema s’ ... ORI O 37T,
9) T IUfSE Q) TR UG 3) VT Qufeg 8) b Il

The national motto of India, ‘Satyameva Jayate’ inscribed below the Emblem of India is taken

1) Katha Upanishad 2) Chandogya Upanishad
3) Aitareya Upanished 4) Mundaka Upanished

HERTE IISTART ARRY HaT GEuRIe AT : R IISTBRUT SATOT SR / 0
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Q)

2)

3)

3)

(3) SfAYH : IRAEARTER YA, T, et 5T, sad

dfIrcRl, pom, aiRfore

HRRI STgeaT FRAMT / IATGT / SeeTafeht — IRATa-HRTe Yf#enT g o
HRH Sl Ferye ) - feH s

Afeardt aee afdre

WY Tgardt o ARl — WA 9

Afdemr aRkfaee

q) YRR ISTIEAIT HRATHT /TR / St — YA g o
AR ITeeTea Pl 79 Wiefieti! prorme ufifdfed g ?

9) TR R) el &

3) I YRR ARiedd a 8) T P

The mind of the makers of the Constitution of India is reflected in which of the following?
1) The Preamble 2) The Fundamental Rights

3) The Directive Principles of State Policy =~ 4) The Fundamental Duties

HRATT AEH AT Tehdl M7 SRISAT IRGUIRITS! 3TN AR BRUIRAS! & RS 3Te

q) ITECT FRRATET R) I YR ANiged aw

3) Gerq 8) T @i

"To uphold and protect the Sovereignty Unity and Integrity of India" is a provision made in the
1) Preamble of the Constitution 2) Directive Principles of State Policy

3) Fundamental Rights 4) Fundamental Duties

AR IoTgeTal IRTaT 318

q) IS U WY 37g IR TGl DIVl BIIGR T ATer

R) U= HAT ATEl ST e PRIGER THTEE! el

3) HISUTET G HAT SN SR PIURATE! HFHHIUE HRIGR T9E 318

8) ISTECTT b R Wy SaR HATUET Ul PIVITR! PRIGHR TG T8
The Preamble to the Constitution of India is

1) A part of the Constitution but has no legal effect

2) Not a part of the Constitution and has no legal effect either

3) A part of the Constitution and has the same legal effect as any other part

4) A part of the Constitution but has no legal effect independently of other parts

GTefierdeh! P fe¥ AR ISTECTT IRdTad 3idyd gl ?
9) foraR W R) 3nffes Fara= 3) A wWdm W) g w@rds

HERTE IISTAFRT ARRY HaT JEuRia ARl : R IISTHROT 0T oI /29
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Q)

Which one of the following objectives is not embodied in the Preamble to the Constitution of
India?

1) Liberty of thought 2) Economic liberty

3) Liberty of expression 4) Liberty of belief

2) RN ARt Jerd a3 - et I

drefier e R &

9. HRARI LT Fea1G, YHMRUST, G geh AT cAlbelTaredl GEIF ! "Jerqd o1 aRHTNd
.

2. YR ARUMF ARG TGN &0 PRUIRIIS! MO ST JGaATR AU ST 3

RieTdeh! DIV fTUM TRIeR 318 /38 ?

q) b 9 R) Heh ? 3) 9 37fr 2 gt 8) 9 febar 2 TR

Consider the following statements:

1. The Constitution of India defines its ‘basic structure’ in termsof federalism, secularism,
fundamental rights and democracy.

2. The Constitution of India provides for ‘judicial review’ to safeguard the ‘citizens’ liberties and
to preserve the ideals on which the constitution 1s based.

Which of the statements given above is/are correct?

1) 1 only 2) 2 only 3) Both 1 and 2 4) Neither 1 nor 2

3) WY 3% afdme

AP 38 AU AT 37T Dl dl Poiid Al
) AH gy 3for ReRim gigHt Sfor =i
R) PRIBRI e FoT DRUITAT Tgeil.

3) Tfcrefierar amfr SEr SRelel U 418 <hl.

¥) AT veT dRieE Te.

Democracy’s superior virtue lies in the fact that it calls into activity
1) the intelligence and character of ordinary men and women.

2) the methods for strengthening executive leadership.

3) a superior individual with dynamism and vision.

4) aband of dedicated party workers.

IREGRAT TGN I T’ BRIGT U ...

9) BRIGRT 3T PRICHSS FETAYU B BN,

Q) 2 YN ATa UM dRa IMor 31 wrie 3.
3) BRIBINU fAfSBr STHEgR &

8) FaeuIiRaRy WRePRY TE deadl Id ATEK.

HERTE ISTART ARRY AT GauRia AT : YRR ISTHIRUT SATOT e / 9
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1)

Q)

2)

3)

3)

The main advantage of the parliamentary form of government is that
1) the executive and legislature work independently.

2) it provides continuity of policy and is more efficient.

3) the executive remains responsible to the legislature.

4) the head of the government cannot be changed without election.

AT 9TRI TUTTed! Th 3R SamHed

9) F¥Icliel A INTHRT g8 IRGRYLY T wxard

R) IRBR FHAEN SIEEER 3T 3 T AT Plgd Ty e
3) IRBR ABIGR Fasel ST 37T & Pl I AHAT

8) ARPRA! (a8 AHGGR dell S U=g BRI Jad YOI BI0ATYE] TRDPR PIgd bl Id ATt

A parliamentary system of government is one in which

1) All political parties in the parliament are represented in the government

2) The government is responsible to the parliament and can be remove by it

3) The government is elected by the people and can be removed by them

4) The government is chosen by the parliament but cannot be removed by it before completion of

a fixed term

) WIAUM YN, Agrd HoY g avgal

y) wfdeamErE: aRfere
R ISTECTAT Wletledel DIuT SFgared JaiiaReRIL avdal 3fed ?
9) SR IRIAD R) U SR 3) Tedt SRg! %) SErdt STyt

Which one of the following Schedules of the Constitution of India contains provisions regarding
anti-defection?

1) Second Schedule  2) Fifth Schedule 3) Eighth Schedule 4) Tenth Schedule

YR IFECT Tad! SR A/%% BT UAUUUGRAT Il AIGR PRI 3Te!.

9) STEATERATA e Q) offe SRIR Mt 3) SRRy it g) ARRST <TE
The Ninth Schedule was introduced in the Constitution of India during the prime ministership of
1) Jawaharlal Nehru  2) Lal Bahadur Shastri 3) Indira Gandhi 4) Morarji Desai

R IS DU JRAAR STfearATe S @RS WS GaiiHT gRaidRd ol
Yedldel 3Rdel SIS 2Adhd ?

9) foRrdt el ?) uredl SRt 3) adT gt 8) SR SRl
Under which Schedule of the Constitution of India can the transfer of tribal land to private parties

for mining be declared null and void?
1) Third Schedule 2) Fifth Schedule 3) Ninth Schedule 4) Twelfth Schedule

HERTE IISTART ARRY HaT GEuRia At : HRR IISTBROT 10T TR /23
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5)

&)

6)

SR Tl AR & AR Isgge-TeaT uraedT SFRE! Siid STl et TR Wiefletudh! ivr e @
30T T PRA ?

9) T ST Alreprear STt RTR sfari gwiaRa Qvam gREY 2.

R) IR T WA FATH TR T 10 glger.

3) TS T AT PRI T YR B,

¥) 3 & 3RTclel 5T IRy il I AfST el ST

If a particular area is brought under the Fifth Schedule of the Constitution of India, which one of
the following statements best reflects the consequence of it?

1) This would prevent the transfer of land of tribal people to non-tribal people.

2) This would create a local self-governing body in that area.

3) This would convert that area into a Union Territory.

4) The State having such areas would be declared a Special Category State.

AR TGl graed] STRgd! M AT e avdal ANe! hedl 3gd
q) SR SHITeT fRdr &m0T ol

R) Isameflel T Mid@a o

3) TR JIRIBR, ARIBRY T SR FfEa a1

¥) Tqd HETedt oaTeT fedr e R

The provisions in the Fifth Schedule and Sixth Schedule in the Constitution of India are made in
order to

1) protect the interests of Scheduled Tribes

2) determine the boundaries between states

3) determine the powers, authorities, and responsibilities of Panchayats

4) protect the interests of all the border States

CIGICRCPIEREEING R

37) WRATE F¥G AR ISTECTAT e SR med fAfee SrIqr o e

§) 9T SFYAHE TR dheledl DRI Ul DIVATE! IITAIGR TURIG ST Sehd ATal 3T
TR PV ol < I Tl

R DIV UM aRISR 318/ 3Med ?

9) (31) Th ) @) B 3) (@) e @) A ) (3N) fobar () S

Consider the following statements:

a) The Parliament of India can place a particular law in the Ninth Schedule of the Constitution of
India.

b) The validity of a law passed in the Ninth Schedule cannot be examined by any court and no
judgment can be made on it.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTY ST ARRY HaT GIURIET AR - HRRT ISTHROT 0T o / 8
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2)

3) HCAIGHR, AT STRINT SATOr Hood

TSGR AfShT d HEwaTed TeIge™edl
AT AN - {31 JMRIRT, TS ST, diicwaT RT, TAgweRdt, Tewdiedt, wefidieht

g AU TS U
fafay fTRacaTHs AT, RN, TS — AT g2 STRINT, AfgeT STR—ANT, ATfgel STRINT, et 3N

q) HEAIGHR Ufshal g Hewdredl YeHIgoedl

Glefietieh! PIurclt e RIeR 31med ?

37) TICAIGORIT PRUT fAURIe AT HRATET JIRUcid! 9d fRIhRA a3

§) Siegl YRATAT YA RFAR TS GOkt {8 IR el ST, TIeg] TR T+ T FHeht <ot
JUTPRD 3.

%) TGO [AUes SAlep=aHT 30T TR fANy SgAd HoR et UTfast IO FYeh J3br TRG

AT,

gt SR :

9) (31) ST () ®h ) (W) M () b 3) (3) MO (P) B ) (), (%) MM ()

Which of the statements given below are correct ?

a) A bill amending the Constitution requires a prior recommendation of the President of India.

b) When a Constitution Amendment Bill is presented to the President of India, it is obligatory
for the President of India to give his/her assent.

c) A Constitution Amendment Bill must be passed by both the Lok Sabha and Rajya Sabha by a
special majority and there is no provision for joint sitting.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3)(a) and (c) only 4) (a), (b) and (¢)

SIS ¥R AT GORIGR Wlalledeh! PIUN Ted Fe lerdrea FSerp qw@me Sisel el ?
q) i 3T goN QTR T HHRISH FHM da

Q) AT FIRATYATT BIRTRET FTEHRT

3) T IIfBR, frerr enfor Adsie aga

8) PR JAEUIHH I 37T Hmmr T IR GRféa oo

Which principle among the following was added to the Directive Principles of Stat Policy by the
42nd Amendment to the Constitution?

1) Equal pay for equal work for both men and women

2) Participation of workers in the management of industries

3) Right to work, education and public assistance

4) Securing living wage and human conditions of work to workers

TERTY RISTA AR HaT GEURIET A © MIRRT TSTepROT SATOr e / Y
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CISICRERIERCEINCR=2IE
37) HRAT ISTICAT 88 T GEAIGORIH GaquTe g =ITRieh JiRIaa e Tea eiidhs SauR ot
RATER e

) HRARAT |arE AR HRAR Igeedia 8% df UeAIgoRl ~IRIuTfeiheal wsard Sger
IROTRT TRl 3.

RIAUDT PO T aRISR 31 /31 ?

9) (31) Hh ) (d) wh

3) Q= (an) smfor (9) 8) SICIe! (37) fohar (9) A

Consider the following statements:

a) The 44th Amendment to the Constitution of India introduced an Article placing the election
of the Prime Minister beyond judicial review.

b) The Supreme Court of India struck down the 99th Amendment to the Constitution of India as
being violative of the independence of judiciary.

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

AR (YR T GORNGR) &iiaR foRveft srmemear weuid, refierh! Hivrd e aReR amed ?

31) Prer ST =l b AFERIT STHER FYRIEA I STeaR el At Jd HIvrre!
RIThRT G AT 81> a1ehd TR

¥) Yiorfi| =i veliaR TaumaT ol weft earer et ividiel e BrRIgr USH dRd gl

IR SR :

q) (31) Beh R) () 3) (31) 3for (9) <= 8) (31) fohar (9) = e

With reference to anti-defection law in India, which of the following statements are correct?

a) The law specifies that a nominated legislator cannot join any political party within six months
of being appointed to the House.

b) The law does not provide any time-frame within which the presiding officer has to decide a
defection case.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

S (FRTE TeAIgeRT) BRIGT, %%, ST Sedl SeMTciiel el 1o TRUT MITe <07 31TR,
AL Wrefletddh! DIVl RS 3R ?

37) Riegr FrRISH S /1. ) I Fasud TN | GaRid Haeue SIId .
P) I I IR T

gt IR :

q) (@) ST () Fh ) (31), () M (F) 3) () Fh 8) (37) o ()

The Constitution (Seventy-Third Amendment) Act, 1992, which aims at promoting the Panchayati
Raj Institutions in the country, provides for which of the following ?

a) Constitution of District Planning Committees.

b) State Election Commissions to conduct all panchayat elections.

¢) Establishment of State Finance Commissions.

Answer Options :
1) (b)and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a)and (c)

HERTE IISTART ARRY AT GauRia AT : YRR ISTHIRUT SATOT SR / 2%,
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1)
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2)

3)

R) JfUHTIHS RN

AR foT SR HEHTd Wiefletieh! PIurd I aRIeR 37T ?

q) IR T [APrRIS WReblg WisaareaT aTglell Mg od

Q) B TSI asTciiel SushHmed fort faRomt | e

3) 2 3N MR URGeihal AR axd

8) AT Hewid &R feelel fAem (9), () 0T (3) FDH! Pioid! UM aRIsR Tel

With reference to the Finance Commission of India, which of the following statements is correct?
1) It encourages the inflow of foreign capital for infrastructure development

2) It facilitates the proper distribution of finances among the Public Sector Undertakings

3) It ensures transparency in financial administration

4) None of the statements (1), (2) and (3) given above is correct in this context

CIICRERIERECINGRI

37) AR aSuh TN & ure el HeT 3%,

9) R 8 HATeRy AR Ul A defaeudmT a1 SFaNTal U desIHh SR,

&) ARIATITE ST gaiean faumei / et iaxumigefi farg fasue s dreadr.

RieAdeh! DIV U™ IRIER 37Ted /3 ?

9) (@) 3T (P) BB ) (31), () M (F) 3) () Fh 8) (37) SMfor ()

Consider the following statements :

a) The Election Commission of India is a five-member body.

b) Union Ministry of Home Affairs decides the election schedule for the conduct of both general
elections and bye-elections.

c) Election Commission resolves the disputes relating to splits/mergers of recognised political

parties.
Which of the statements given above is/are correct ?
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
Qrefier e R &
37) AR TGS goviTa JoaTd AT Hd [J8des HigTd dhell STid> STadl.

9) SR 31l GO ISTTCTAT FERI TRUMFEY 9571 % 3 3RS, TR T ORI HRARNS e
I fiftreesH Sl AIaT erdl Srld,

RIS PO AU RISR 312/ 3T ?

9) (31) Hh ?) (@) T 3) (an) ST () Q=Y 8) (37) fobert (1) Qe T
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Q)

Consider the following statements :

a) An amendment to the Constitution of India can be initiated by an introduction of a bill in the
Lok Sabha only.

b) If such an amendment seeks to make changes in the federal character of the Constitution, the
amendment also requires to be ratified by the legislature of all the States of India.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) el AfdEHeTS ue

) fafder fTRgcaHs I, 3R, A5

A} §2B IRINT
TR STIRT
Hifeelt s

I A uRug
et 3T

CIGICREPIERCEING R

31) I faarT aRug & AT SN T TRl 3R

q) anfdfes SMtT AFTG MRS YRR IsTaca aHadt Gamed 3del 318

P) YRATAT A5G- UARIIAT STffeh faeprT 3Mifor AT =R ASHT TR v B et
TfeSl 3 TG Pt 31T,

R feorelt Wietietdeh! DIt faerm sRIsR 31ed /31

9) () 3707 (B) Beh  R) (3), (@) M (FH) 3) (FH) Beh 8) (31) 3T ()

Consider the following statements:

a) National Development Council is an organ of the Planning Commission

b) The Economic and Social Planning is kept in the concurrent List in the Constitution of India

c) The Constitution of the India prescribes that Panchayats should be assigned the task of
preparation of plans for economic development and social justice.

Which of the following statements given above is/are correct
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

ORI STRINTRT HEHTd, Wiefielidh! v fauT aRIeR 3118/ 3med ?

31) A RN I PRI <RI 3@ et S 2ehd ATa).

) SiegT i RN 3T AT fehaT o fAU-RTSaR Higel ST, degl o JTRIHeY dhlula!
9o P hd ATaId.

IR SR :

q) (31) Beh ?) (@) b 3) Q= (1) 30T (9) ) Seel (37) febar () A1t
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1)

With reference to the Delimitation Commission, which of the statements given below is/are

correct?

a) The orders of the Delimitation Commission cannot be challenged in a Court of Law.

b) When the orders of the Delimitation Commission are laid before the Lok Sabha or State
Legislative Assembly, they cannot effect any modifications in the orders.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

8) Hg-IoT [ay, g [Afticht, T arrerasen
s g -1 HaY
YRAT T HERTSY SFa=AT
g -1 TS ey
hg-ITT UATHHT HEE
g1 AP ey
favmita uReg 7 3R -I15g uRug
g T Aa LTI 3TN

2 oy fAfefch

5 AT ~TIITEAT

[at" IR

ST IR

ORI

ApUTe, NPT, TR

faeht favmr, e IS

=JrarerRi= ufdsar snfor e

rTeRIA YAfdete, T, SiFfed ATt a Afhaar

q) YR GERST IRl
WofleTidh! P Tcdh ISRAAIS] AhITId ITa=aTe Fardd 870 v ?

q) TG ~IIaEAT Q) SIfUBRR hgldRul

3) fagd aietel ARPR 8) SNMIBRIT G

Which one of the following factors constitutes the best safeguard of liberty in a liberal democracy?
1) A committed judiciary 2) Centralisation of powers

3) Elected government 4) Separation of powers

HERTE IISTART ARRY HaT GEuRiaT Al : R IISTHROT STf0T TR /29



Q)

2)

3)

3)

8)

4)

RgTefieiieh! PIU HRART FeERAT Jf3eT 18l ?

9) YR e R 3R,

Q) dg 3T IoTmed SIBRE FqEyn funTeft aRuard ereft 3R,
3) thexeM IFCEAT ITIHd 3R Ui Qo aTTel o
¥) g FERNT gchiiicl PRRET IR 3T

Which one of the following is not a feature of Indian federalism?

1) There is an independent judiciary in India.

2) Powers have been clearly divided between the Centre and the States.

3) The federating units have been given unequal representation in the Rajya Sabha.

4) It 1s the result of an agreement among the federating units.

AR YR Wietletid! HIvd dfory 8, YRT <7 &7 Tl eliense! Faoumar sRiear ggifad ?
9) =IRTfelehd T ISR 3TTe.

Q) g furead dfdure achmym afafel fage ot smed.

3) Do HEFSRIA HIGRih U fagT aietel Ufdfel oRy erpdrd.

%) e STUPR BT RERIGR AR] el ST bl

Which one of the following in Indian policy is an essential feature that indicates that it is federal
in character?

1) The independence of judiciary is safeguarded.

2) The union Legislature has elected representatives from constituent units.

3) The Union Cabinet can have elected representatives from regional parties.

4) The Fundamental rights are enforceable by Courts of Law.

AR TGS ASHId, AT DIISHE 3Rcied e fohaT Fiiey fohal aRaal et 98 Jicid

gcHS JAfUBRIGR ey fobar 7IfeT 7 S &% aehd ATeld. IrdT 31 Wietlefieh! DIV 3R],

Sl ?

) AR (aeuh AR 3Mdel Pl FoTadHl Bideied] FURIHT HIURATE RIS 3fegH el
SISZNELIEIRN

Q) YRR FaE TR F¥Ie ddeied] PRIEGR MMUAT AR dIIR dRUIRT Ui AT,

3) Serchier TR anRies Heperean aRfRRIT, YR I1Edc AT Aganear afie il
YT P Aepaa.

¥) I fauree Prel fivaiaR dorr e FadifiRaRT BrRIe &6 dhd TRl

With reference to the Constitution of India, prohibitions or limitations or provisions contained

in ordinary laws cannot act as prohibitions or limitations on the constitutional powers under

Article 142. It could mean which one of the following?

1) The decisions taken by the Election Commission of India while discharging its duties cannot
be challenged in any court of law.

2) The Supreme Court of India is not constrained in the exercise of its powers by laws made by
the Parliament.

3) Inthe event of grave financial crisis in the country, the President of India can declare Finan-
cial Emergency without the counsel from the Cabinet.

4) State Legislatures cannot make laws on certain matters without the concurrence of Union
Legislature.
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1)

Q)

2)

)

Q) eI A Feu

URATT FAGRT IR YU 31T hIROT
9) ANEag fas o @l axard R) NG HCIGORIT %o e
3) Iyt faafia @xar ag g ¥) Tt yRYG AHIHAT STEEGR 3RA

There is a Parliamentary System of Government in India because the
1) Lok Sabha is elected directly by the people

2) Parliament can amend the constitution

3) Rajya Sabha cannot be dissolved

4) Council of Ministers is responsible to the Lok Sabha

HRATAT A I8 el DIURATE! JTeliaR ISR RIS BrRIgT HRugrT JAfUBR U6 gldl, SR T
q) AT R THUT AR ATETT SgHA

Q) ArhAT e TRl Gk Qi Siidiel Ul HHt Ricted! qgAM

3) ISTAHT TRUT AR AT TgHc

8) IYRAH SURRIT 3Rciedl 3T HAGH HRUMAT HERATedl &1 el Yl ! Rieted] qgHdm
The Parliament of India acquires the power to legislate on any item in the State List in the national
interest if a resolution to that effect is passed by the

1) LokSabha by a simple majority of its total membership

2) LokSabha by a majority of not less than two-thirds of its total membership

3) Rajya Sabha by a simple majority of its total membership

4) Rajya Sabha by a majority of not less than two-thirds of its members present and voting

3) Hg-IST YA [
8) he-Iro NfAe HaY
y) fauriia gReg 9 sricR-350 gRYE
§) hg-XToT FEUTETETd RN

=g fAfdd

q) Wal" <RI

GTefleehl Pl /DI R ITee-d GReh MR ?
9) URAT IO Q) URA GI9 3) APyl ARAe™ ¥) YRAR Far <RI
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1)

Q)

2)

3)

3)

8)

4)

Who/Which of the following is the Custodian of the Constitution of India?

1) The President of India 2) The Prime Minister of India

3) The Lok Sabha Secretariat 4) The Supreme Court of India

&, 3T gl farear Mol gvgrar YRdaren darE <RTerRTET SIRGR L. 3icta I,
9) AGNR IARIBR & Q) Irdleftr 3fIPR &

3) I SAPR & ¥) Re fpR &

The power of the Supreme Court of India to decide disputes between the Centre and the States
falls under ts............

1) advisory jurisdiction 2) appellate jurisdiction

3) original jurisdiction 4) writ jurisdiction

AT I % TUBREA Wletleh! DU FHITE ST 2

37) YR IRBR A0 Up fhar 31feas Irammefier arg

9) FAe NIRRT fohdT e fuTrsereaT Masudieed ag

P) TR ARDPR IOT HgRId TS I dIg

g) 2 fhar a1l Isamefier are

Tt SR :

9) () STfor () w2 (1), (@) M1 () 3) (a7) oMfdr (3) 8) (31), (@), (d), (3)

Which of the following are included in the original jurisdiction of the Supreme Court?

a) A dispute between the Government of India and one or more States

b) A dispute regarding elections to either House of the Parliament or that of Legislature of a
State

c) Adispute between the Government of India and a Union Territory

d) A dispute between two or more States

Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3) (a) and (d) 4) (), (b), (¢), (d)

HRATT e IRITITT R I FRUIRIC! DIV TG MMe 2

37) A R ~ARTHeT FRIch! SR, HRATAT T AR SR gl eamar
AT

) A" ARIEITA] <IATERT B HRAT J& RIS BT T TehdI.

P) IR da9 YRATAT Thid Feffer 3MpRet S SR U8l qagM axid onTd el

$) WRATAT \aE IRITeRIde USRI S ARt I da e ARt axmedtenstt
AgHHedd IR ARDRGIN hT SIdld.

gt SR :

q) (31) 3N (9) v ) () 3N (&) B 3) (), (@) 37 (3) ) (a), (), (P), ()

What is the provision to safeguard the autonomy of the Supreme Court of India?

a) While appointing the Supreme Court Judges, the President of India has to consult the Chief
Justice of India.

b) The Supreme Court Judges can be removed by the Chief Justice of India only.

c¢) The salaries of the Judges are charged on the Consolidated Fund of India to which the legislature
does not have to vote.
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4)

5)

)

6)

7)

d) All appointments of officers and staffs of the Supreme Court of India are madeby the
Government only after consulting the Chief Justice of India.

Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

WRATAT Hd IR ~IRITefter AT dieauarar fIdR ... P Afed ame.

9) HRATS I R) WS

3) YRAR AR-IRIERT ¥) PRIST IR

The power to increase the number of judges in the Supreme Court of India is vested in .........
1) the President of India 2) the Parliament

3) the Chief Justice of India 4) the Law Commission

R et Heufd, @efietid HIor U/~ aRIeR 3 /31ed 2

3T) HRATAT A IR PIURATE! {FIget AT IR JIEHciied] GauRaTI- HRF SRR eTeng
AT RN ~IRITEeT TV SHUIRIIG! 3TIf0T S RIS IR sliefide] Sihd» 2Tel.

) YRAKN 39 AT Aare AT Wa: <] (eTer JiRdelih SRuarl JIeR 377,

Tt S :

1) (3F) weh ?) () wd 3) (31 afor (@) A= ) (&) b (3) S TR

With reference to Indian judiciary, cwhich of the following statements is/are correct?

a) Any retired judge of the Supreme Court of India can be called back to sit and act as a Supreme
Court judge by the Chief Justice of India with prior permission of the President of India.

b) A High Court in India has the power to review its own judgement as the Supreme Court does.
Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

grefler fu™ e &

37) ARATAT ™ AR ~RTHeeR TR Aeiquaral IRd rmefier (dieelt) SrRemgar
PN TETE el 2 ATeNd,

¥) YRR ISTgeHT URATAT Hdie ~Tered ~grrefer ‘sremar anfor Rig iRadH’ &Ry 3me It
R 3nfor quefier <.

&) YRATT Hate ~ITered] <Reieren FeiftRinTear ufchar qusfier ~ammefter (dimeft) wrema
feeier R,

$) SR TErEn IR FEIanEl Rdd AAGHRIS! Odel el O), PRIETIAR A1 IR
AR Ueh AHRIE UTfSHT a0 Sfrasi2ies 3118 AT T AHETAT TRUT FeeITedT qgHar 3T
QN Jerie UaT T AR T AHETRAT Ul Aeueh! IJUfRIT S0 HeigH,

R DIV [TUM RIS 3R /31 ?

q) (ar) smfor («) ?) (&) Fh 3) (@) M1 (3) Bh ) (30), (&) MM (%)

Consider the following statements:

a) The- motion to impeach a Judge of the Supreme Court of India cannot be rejected by the
Speaker of the Lok Sabha as per the Judges (Inquiry) Act,

b) The Constitution of India defines and gives details of what Constitutes ‘incapacity and proved
misbehaviour’ of the Judges of the Supreme Court of India.
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1)

)

¢) The details of the process of impeachment of the Judges of the Supreme Court of India are
given in the Judges (Inquiry) Act,

d) If the motion for the impeachment of a Judge is taken up for voting, the law requires the
motion to be backed by each House of the Parliament and supported by a majority of total
membership of that House and by not less than two-thirds of total members of that House
present and voting.

Which of the statements given above is/are correct?

1) (a) and (b) 2) (c) only 3) (c) and (d) only 4) (a), (¢) and (d)

) IH ~RITAT

TR e Heid, alefier fau™ foaRr &

37) PIVATE! FeI ~ARITAITEAT DIUIATE! D PRIGT TCATHDBGEIT Y SIS TfST PR TRIBR
SR T8l

§) YRATAT ITECIA GORiiaR HRAT Hare ~IRIed W3 faame aehd A,

RITDT PIvT I sRISR 3R/ 3Med ?

q) (1) Hh 2) (@) &h 3) a7 () 30T (3) ) Qgrel () febar (@) A1t

With reference to the Constitution of India, consider the following statements :

a) No High Court shall have the jurisdiction to declare any central law to be constitutionally
invalid.

b) An amendment to the Constitution of India cannot be called into question by the Supreme
Court of India.

Which of the statements given above is / are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) ST IR
¥) FAhUTel, BT, AR
) faeht fAYFT, PRER ST

€ ) SRR ufskar snfor Repra

TR =R SR} hetedr Reean deuid, diefiefidh P fam sRieaR 3med ?

37) T WIoRT TR i+ e Adfdel T8 dR Jeqd @I SIolUR gl

g) Ul g RPN DU IRIeNt IN HeHT AT og Wi IR ATa).

P ) PR FTaoi+p FaRIRU @hl @ aRke Re MsIuarardt =T STuaRITe! arfiprehdt
3R 1.

qift SR :

q) (31) M (&) Bk R) (9) M (H) b 3) (31) IO (B) Bh  8) (3), (9) MO0 ()
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)

1)

?)

2)

With reference to the writs issued by the Courts in India, which of the following statements are

correct?

a) Mandamus will not lie against a private organization unless it is entrusted with a public duty.

b) Mandamus will not lie against a Company even though it may be a Government Company.

¢) Any public minded person can be a petitioner to move the Court to obtain the writ of Quo
Warranto.

Answer Options :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

V) IR qAfddied, s, SHfed JTte d afgsr

HRAT, ~RIP GREaapEr 32 ...
9) PRIC 3T PRIBRT AT TeTHbddR Ui Bvarl) =aryarferdhdt Ihl.

R) ARSI AN Peledl BRIEIAT TRTOMUTER HeAfrg A0 aRuamEr ~IrRdTierhdr TR,

3) Y FHCh uATef 4 AUt B REdh SRuarET RidTerhdT TR,

8) T fobar e veuTHe gaf fooiedn waq:=a1 fofard grRadtie axuar ~aRdTiorehd! Srhl.

In India, Judicial Review implies .......

1) the power of the Judiciary to pronounce upon the constitutionality of laws and executive orders.

2) the power of the Judiciary to question the wisdom of the laws enacted by the Legislatures.

3) the power of the Judiciary to review all the legislative enactments before they are assented to
by the President.

4) the power of the Judiciary to review its own judgments given earlier in similar or different
cases.

Wofleddh! PIUTT faem sRIsR 3med ?

) Ta.UH. FTel AT gl AR, ~ARITeRITl SGHM DrIal, 4R399 YR hRugd JATe.

¥) IR I5TgeH Farg RIS 0T & ~IRITIIT AT ST hedldge] 13787 hRugT IfRIBR
e .

P) URART IR TR 3G9 07 BISERT IR RS bl

¥) ARAN, ~IRITITT aHHIER PRIe IRUI PR FAeel 3.

Tt S :

q) (31) 3Mfr (3) B Q) (31), () M (8) 3) (&) oM (8) Fh  8) (F) Fh

Which of the statements given below are correct?

a) Pursuant to the report of H.N. Sanyal Committee, the Contempt of Courts Act, 1971 was
passed.

b) The Constitution of India empowers the Supreme Court and the High Courts to punish for
contempt of themselves.

¢) The Constitution of India defines Civil Contempt and Criminal Contempt.

d) In India, the Parliament is vested with the powers to make laws on Contempt of Court.
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9)
Q)
3)

4)
&)

<)
Q)
90)

)

1)

Q)

Which of the statements given above is/are correct?
Answer Options :
1) (a) and (b) only 2) (a), (b) and (d) 3) (c) and (d) only 4) (c) only

4) el PRIGIRT, FA, IISTHIT Uet 3ol garg Te
3 g PrIpIRoft
TETT ATFOT SURTEO
YRATST AeFadTe)
YRATAT fARI 9 AgTeiaTiRIeh
:}:W
RTSIRTHT T ANBHHT
AT PRIPIST
GG A
3% ISThI &7 SATfOr Sa1a 7T
RISThIY g8t 3TTfoT qaTq I
s F=om g ufdsan
Rasudhiciter HHAFRY

"\

q) I 3o IuRTSH

YR STHSIIAR, Wleiletderl DUl FHTHR HISUl & HRArAT T e 3718 ?

31) e foxr smanrear Rmreh q) SioiRal AT sTgdTd

&) R ST AgleRaT WRierhiaT SigdTel ) TET SR Sl ST 3Tgard
gt SR :

9) (1) STy () weh ) (31) MM (@) ®eh 3) (31), () 3T (3) %) (), (@), (P), (¥)
According to the Constitution of India, it is the duty of the President of India to cause to be laid
before the Parliament which of the following?

a) The Recommendations of the Union Finance Commissions

b) The Report of the Public Accounts Committee

c¢) The Report of the Comptroller and Auditor General

d) The Report of the National Commission for Scheduled Castes

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (a), (¢) and (d) 4) (a), (b), (c), (d)

HRATAT JIguciean fraguhrear weufd, Wrefiertd! o faum sRIsR 3R/ 3med ?
37) D AR HAT Hed ISATIIR 95T
9) AP WRIGRIT FATE Jod g ISR WRIGRIT AdTiel ST 31T,
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2)

3)

3)

4)

4)

it S
9) (31) Heh ?) () wh 3) (31) o7for (3) qFer  (3) foharr () Qe Tl

With reference to the election of the President of India, which of the following statements is/are

correct?

a) The value of the vote of each MLA varies from state to state.

b) The value of the vote of MPs of the Lok Sabha is more than the value of the vote of MPs of the
Rajya Sabha.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

SR AR I TEren fafe Isarean AeHid g dad 34& TR UG dheled STRIGRTET AR

bell T

q) Iroardt faemRIT ey IR B

Q) T It faftmger SR HagR fhar AT ST RIGTe aruRaT Adied.

3) 1 AT e 9% Freifed g

8) IEuel 1 el FERiq PRI B hard

If the President of India exercises his power as provided under Article 356 of the Constitution in

respect of a particular state, then

1) The Assembly of the state is automatically dissolved

2) The powers of the Legislature of that State shall be exercisable by or under the authority of the
Parliament

3) Article 19 is suspended in that state

4) The President can make laws relating to that State

Tefier faem™ faRTg &

31) P YR ARBRAT FIAIRAT 3ifees ARIRR TagRIIS! ST Sth eI gamqefier
ISl HIH TIR dclet.

) YRd IRBRAT A BRIBR! Pl GATUFTT AT ch el STl

RIedeh! PV I SRIER 318 /37 ?

q) (1) Beh ?) () B 3) TR () 3MfoT (3) ) SRreT (1) febar (9) AT

Consider the following statements :

a) The President shall make rules for the more convenient transaction of the business of the
Government of India, and for the allocation among Ministers of the said business.

b) All executive actions of the Government of India shall be expressed to be taken in the name of
the Prime Minister.

Which of the statements given above is/are correct?
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

ETeflerieh! PIort aRumM T Jsard ! Jeiaciear Sivore aRegRiud gid Aeid ?
) I e faaeH

q) I HAT GRS PIg crepul

@) WIS ORGSR g
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)

1)

Q)

2)

3)

gt SR :

9) (31) ST () Hh ) (31), () M (F) 3) () Feh 8) (a7) mfor (37)
Which of the following are not necessarily the consequences of the proclamation of the
President’s rule in a State?

a) Dissolution of the State Legislative Assembly

b) Removal of the Council of Ministers in the State

¢) Dissolution of the local bodies

Answer Options :
1) (a) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (b)

) Yaue= 3for s

gTefier fau™ famma &

37) URAT FJERI PRIBRT Ih! dauerics Ffgd 3.

¥) UG AR JdT Hes USRIg 3Tedel .

RITDT PIvT I SRS -3 /3T ?

q) (31) Beh R) (¥) &b 3)-(3n).3mfor (@) St %) (3) febar (@) S AR
Consider the following statements:

a) The Executive Power of the union of India is vested in the Prime Minister.

b) The Prime Minister is the ex officio Chairman of the Civil Services Board.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a)and (b) 4) Neither (a) nor (b)

HRAT GaHU™, el FEgh=m a@t o

q) FASTT Ul THRIEMET Ao STuard RS AT, W el Hfe-areal S qHRIE et uifes,

R) ST Tl FAUREHET TR 3RV AEISH AR IR el Al 3T b A gl
MaTIH 37Te.

3) AT AUFEIUDT Thral e 30l ST AR

¥) APAYTT AT 0 AFID 37

The Prime Minister of India, at the time of his/her appointment ...............

1) need not necessarily be a member of one of the Houses of the Parliament bu must become a
member of one of the Houses within six months

2) need not necessarily be a member of one of the Houses of the Parliament but must become a
member of the Lok Sabha within six months

3) must be a member of one of the Houses of the Parliament
4) must be a member of the Lok Sabha

HRATT HeHid, TSR ARPRAL Wielleiid! HIvdT o TR ReT Ffed Jmed /oradTd ?
37) AHeeR ISR WIeT IS SRAAN.

9) G ¥ fasarT fAewid O ug gRuT aRard.

&) ARSI Agd ST T .
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3)

8)

4)

4)

5)

&)

gt SR :

q) (1) SMfor (3) Hh ) () AT () 3) (@) snfor () 8) (31), (3) amfor ()
In the context of India, which of the following principles is/are implied institutionally in the
parliamentary government?

a) Members of the Cabinet are Members of the Parliament.

b) Ministers hold the office till they enjoy confidence in the Parliament.

c¢) Cabinet is headed by the Head of the State.

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

TeficTieh! PV IUT SRR 3118 /3R 2

31) dgrdiet H3ll uRYS THBAUn T STEEER 3R

¥) T ot YR AFYAT IR UG &Rl ahxciiet

P) UdUUT™ PRI TRddieee IFYcel Farg At

gt SR :

9) (ar) amfor () wh ) (31) 3T () 3) (@) snfor () 8) (31), (3) 3T ()
Which of the statements given below is/are correct?

a) The council of Ministers in the Centre shall be collectively responsible to the Parliament.

b) The Union Ministers shall hold the office during the pleasure of the President of India

c¢) The Prime Minister shall communicate to the President about the proposals for legislation

Answer Options :
1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (¢)

RgTefieriehl PRt faem SRS 3Rd 2

31) YRR ¥ I IR AviHed el det 3. dbistic Hall, Fadd TR clel ISTH3],
9) UaUYUTTE e, ARDRAUIE THuT He T Sl Hcl e Tehul AGRITAT 9Y CHITUEN SR AT,
gl IR :

q) (31) Beh ?) (3) Bh 3) () anfor (@) <= 8) (31) fobar () SEiet

Which of the statements given below are correct?

a) The Constitution of India classifies the ministers into four ranks viz. Cabinet Minister, Minister
of State with Independent Charge, Minister of State and Deputy Minister.

b) The total number of ministers in the Union Government, including the Prime Minister, shall
not exceed 15 percent of the total number of members in the Lok Sabha.

Which of the statements given above is/are correct?

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

NRAT I AfISERT IR Wlefter fqu™ R &

31) YR e JIfISaRT IRATATET SgRd Tl

¥) Smayad JIfISaRT TR HiSell Ses Tadl.

Rieeh! PV I SRR 3MR /37T ?

q) (31) Beh ?) (¥) wh 3) el (31) 3Mfor (9) ) varet (1) feberr (@) Tl
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6)

7)

<)

8)

R)

Consider the following statements regarding a No-Confidence Motion in India :

a) There is no mention of a No-Confidence Motion in the Constitution of India.

b) A Motion of No-Confidence can be introduced in the Lok Sabha only.

Which of the statements given above is/are correct?

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

37) TAfi TR ¥) U aNF ®) Wep U

9) (31) 3mfdr (3) Wk R) (3N) 3T () 3) (3) smfor () 8) (1), (@) 3mfvr ()
The Parliament of India exercises control over the functions of the Council of Ministers through......
a) Adjournment motion

b) Question hour

¢) Supplementary questions

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

Gleiiel fAUmFIh!, FRDRAT HiEHSD WU T FHR AR U fFraer :

) T FRPRAT TEGRIT AT 37 Fafear FHUMRIST IR UIeul Holvl M AN ADPRER
IR} STepT AT PRUT e,

Q) IGIRAT BT T SUMRY 0T ST ST feaRifed™d arad 3nmed.

3) AP ARPRE! A SR FHT HRUTRIC! ISR AlbeMTerd! I,

8) ARDRAT TR 8l Soehe PRUIRIS! Teh AT ST Alehiavell Uehs GRIGUITA A 3.

Out of the following statements, choose the one that brings out the principle underlying the

Cabinet form of Government:

1) An arrangement for minimizing the criticism against the Government whose responsibilities
are complex and hard to carry out to the satisfaction of all.

2) A mechanism for speeding up the activities of the Government whose responsibilities are
increasing day by day.

3) A mechanism of parliamentary democracy for ensuring collective responsibility of the
Government to the people.

4) A device for strengthening the hands of the head of the Government whose hold over the
people is in a state of decline.

CISICRCBIERECINCR=2IE

9. AR ITLSATIR, AIGHRITC! U STFeled SchiclT T ST AeT AR cRig! el Hig-aol
T (ST H3Al el TS Al

2. clrpyfcrAelt BrRIET, 9349 TR, ISR TEINIIS! QI SReledT AT e awfear BRIl e
HTelel! <eh! qOT CeaaRe! Faeudh AaiiuaT HIamdt SMur G

TeTh PIor U™ SRR 312/ 38 ?

q) h 9 R) e 2 3) 9 amfdr R A 3) 9 fbar 2 T

HERTY ST ARRY HaT GIURIE AR HRRT JISTHROT 10T T / o



9)

)

1)

Q)

2)

consider the following statements:

1. According to the Constitution of India, a person who is eligible to vote can be made a minister
in a state for six months even if he/she isnot a member of that state.

2. According to the Representation of People Act,1951, a person convicted of a criminal offence
and sentenced to imprisonment for five years is permanently disqualified from contesting an
election even after his release from prison.

Which of the statements given above is/are correct?

1) 1 only 2) 2 only 3)Both 1 and 2 4) Neither 1nor 2
3) RN TeIR—ER)

Grefledhl DI faa™ sRIeR Mg/ 3T ?

NRAT 3l SR 8 B DA ...

31) APAIT HHBISTIT HNT BoF ¥) elepaa Afar IeR 3rTaT

P) AHIHT el 3) APIUd qAGH B

gl IR :

q) (1) ST () B ) (37) AT () 3) (31), (@) &1 (3 %) (31), (@), (&), (3)
Which of the statements given below is/are correct?

Attorney General of India can ............

a) take part in the proceedings of the Lok Sabha

b) be a member of a committee of the Lok Sabha

c) speak in the Lok Sabha

d) vote in the Lok Sabha

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3)(a), (c) and (d) 4) (), (b), (¢), (d)

TeAIcTueh! PO fae aRIsR 3T7ed ?

31) YRAT HETfeehl SMfOT HIfIRICR S-Rel 31T SISAT & ARDPRT ThHd IpRT 3MTed ST HRAT

) WRAY ITESIIAR, HRAM e SFRel gl AT 7Rt dhelel TRDBR ST o gl d
NSIEICICSIh

gt SR :

1) (3F) weh R) () wh 3) (3n) amfr (@) <=t 8) (8 fobar (@) Qe TR

Which of the statements given below are correct?

a) Attorney General of India and Solicitor General of India are the only officers of the Government
who are allowed to participate in the meetings of the Parliament of India.

b) According to the Constitution of India, the Attorney General of India submits his resignation
when the Government which appointed him resigns.

Which of the statements given above is/are correct?

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTY ST ARRY HaT GIURIe AR - R JTSTHIRUT 0T oI /%9



)

1)

)

) MR 5 9 HEeiaa™iars

HgIedl Wigih (CAG) SRR Jg P 318 ?

31) SiegT YR el Ry snoftaoft /afies smoftamoft enfSed wxar dear CAGIRIR aae foeiRieR
fo=or S,

) FATCRIGR Udhed fdhal BRighHTAT 3ictasTaviiek CAG TT 3TgaldlidR dldhedl ARG Tt dheft
ST,

%) AT ot Sraenfid TRAMT ST+ BRI IFa- dhel 3R ATANMA0G, TR HRUTRIST TR
T CAG 3TgdTercilel Hifgdl dToRs QreheiTd.

3) PR HU=Ird 3fifse T rprafer grdesdmr, CAG o FRadr Sgo axuRifeR BRATS HRUAT
Pl =i ISR 3.

qift S :

q) () 3T (3) Beh Q) (3) 3N (F) b 3) (), (&) M7 () 8) (31), (), (P), (3)

In India, other than ensuring that public funds are used efficiently and for intended purpose, what

is the importance of the office of the Comptroller and Auditor General (CAG)?

a) CAG exercises exchequer control on behalf of the Parliament when the President of India
declares national emergency/financial emergency.

b) CAG reports on the execution of projects or programmes by the ministries are discussed by
the Public Accounts Committee.

c¢) Information from CAG reports can be used by investigating agencies to press charges against
those who have violated the law while managing public finances.

d) While dealing with the audit and accounting of government companies, CAG has certain judicial

powers for prosecuting those who violate the

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (b), (c) and (d) 4) (a), (b), (c), (d)

#* Wq
"‘

4) ISTAHT T ATBTTT

NRART e Glelleldd! PIvd Gy SfhR ITIHT 98Tt doel 3MTed ?

9) AT fRET TCeT 950 I AT AT SISl

Q) T YT IS PRI TROIRATS! 30T Uep foharr 31f¥rep 1fet wReliT Aar fior aruaman 1R
QUTRT X1 YRT 0.

3) pYciie Fasus HRIvGH FEROT ol Mfor Iggcien FgdiFa @rdt dree Ffead @,

g) Fasus RNt BRI Ffead awul oTftr Fasuds sl dver Mfead ol

HERTY IS ARRY AT GIURIET ARRI : HRRT JISTHROT 3107 ST / 83



1)

Q)

2)

3)

3)

Which of the following special powers have been conferred on the Rajya Sabha by the Constitution

of India?

1) To change the existing territory of a State and to change the name of a State

2) To pass a resolution empowering the Parliament to make laws in the State List and to create
one or more All India Services

3) To amend the election procedure of the President and to determine the pension of the President
after his/her retirement

4) To determine the functions of the Election Commission and to determine the number of
Election Commissioners

TeficTieh! IV U SRR 3718/ 3MMRd ?

31) heenfid TR Isaayd Ul oo S =,

q) e agmET farel aRU g I asud STRIhIeaT HRISHTd 3.

) HRAIY ISIUCHIAR, IRIQT Tich DA SI0T ISTRAHT ST

gt SR :

9) (@) ST (@) ®H  R) (3), (@) 3 (&) 3) (31) Fh 8) et PrEEr e

Which of the statements given below is/are correct?

a) Union Territories are not repre-sented in the Rajya Sabha.

b) Itis within the purview of the Chief Election Commissioner to adjudicate the election disputes.

¢) According to the Constitution of India, the Parliament consists of the Lok Sabha and the Rajya
Sabha only.

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (a) only 4) None

AT ST IS ATA A TRIY ..o 1 YR BIUITeAT dob! HRIqd! g 90D dletad.
31) A PRI ) = o %) ge T go! U

Tt IR :

9) (31) wh Q) (1) 3nfor (&) ek 3) (3), (9) 3NN (B) ) (9) 30T () Heh
A deadlock between the Lok Sabha and the Rajya Sabha calls for a joint sitting of the Parliament
during the passage of .............

a) Ordinary Legislation b) Money Bill ¢) Constitution Amendment Bill

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only
Qrefier e R &

37) TG (3T UfieY) BIIGT, 9]4R 3 UGHT 'SAIfthel 311t Hifthe’ IT HRUNRKIE STUBIIRIT I
.

) &R TG Dolcd] DI UK deT JURIT HRUITT 3T,

%) 'SR 31Ttk Uifthe’ & FeTT TR IsTged Iiedl YR IRYINT dolell 3Te.

iU DI I aRIsR 31/ 3 ?

1) (1) Bh Q) (31) 3nfor (9) b 3) (), (9) 3N () 8) (&) 3oy (&) Heh

HERTE IISTAFT ARRY HaT GEuRia At : HRR IISTBROT 10T ST / 3



4)

4)

5)

)

6)

)

1)

Consider the following statements :

a) The Parliament (Prevention of Disqualification) Act, 1959 exempts several posts from dis-
qualification on the grounds of ‘Office of Profit’.

b) The above-mentioned Act was amended five times.

¢) The term ‘Office of Profit’ is well-defined in the Constitution of India.

Which of the statements given above is/are correct?

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

GTeAeTidh! DI Hch SAlpdHT UehHd JfIBR 31Me /31Med ?
31) arofiemfiear Gisoien e <o
q) AhuRvefaeg JfsEs &)@ ASR a0

%) YRATAT IFY IR AR dreraor
it S
9) (31) iy () R) () wh 3) (31) afor () 8) (P) Heh

Which of the following is/are the exclusive power(s) of Lok Sabha?

a) To ratify the declaration of Emergency

b) To pass a motion of no-confidence against the Council of Ministers

c¢) To impeach the President of India

Answer Options :

1) (a) and (b) 2) (b) only 3)(a) and (¢) 4) (c) only

IRIYT APaHATd qqH DR Hl%a

q) T SIRES AR FaT 0T FRuAT 99 R) g govdl

3) TRBR geau 8) Pe BleTdlell Pxur
Rajyasabha has equal powers with Loksabha in

1) The matter of creating new all India services 2) Amending the Constitution
3) The removal of the government 4) Making cut motions

§) RIS BB

GG RERIERCEINCR=2IE

q. ARG IR i1 IR arechier Jfem 3ol FeD tfte dieg arhara.

2. WRAT ISTECd Uepl auid S¥ed! diF 3 U aRqg 3fg, WRq fomel sifitiaem s o
JEFTHRD TE.

3. Tcell JYHRIT AT fobel feasT Herd AARTaT 3RT Ta.

RieTdeh! DIV fTUM TR 318 /3 ?

9) Heh 9 ?) Weh R 3) 9 3T 3 ek ¥) Teh R AT 3

Consider the following statements:

1. The president of India can summon a session of Parliament at such place as he/she thinks fit.

2. The Constitution of India provides for three sessions of the Parliament in a year, but it is not
mandatory to conduct all three sessions

3. There is no minimum number of days that the Parliament is required to meet in a year.

HERTY IS ARRY HaT GIURIET AR - HRRT JISTHROT 0T oI / 8%



Q)

2)

3)

3)

8)

Which of the statements given above is/are correct?
1) I only 2) 2 only 3) 1 and 3 only 4) 2 and 3 only

Teilefiehl PIur e aRIsR 37Te /3R ?

37) IS 37EIeE SN0 IUAHU g T FHNER AR A

) FACAT Qe NGRS ARG eI IFacuGrea Haguehla AagHTaT TR THal aRl
AT SR (aeuehia HagH HRuITT AUDR 37T,

Tt S :

9) (31) Hh ?) (3) wH 3) (30 omfor () QR ) (37) febarr () et

Which of the statements given below is/are correct?

a) The Chairman and the Deputy Chairman of the Rajya Sabha are not the members of that house

b) While the nominated members of the two houses of the Parliament have no voting right in the
presidential election, they have the right to vote in the election of the Vice President.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

ANRHIT eI PRI, Wicllehl Do fIem sRIeR 31Te/3TTed ?

31) ar/<t IFYHAT STFGIERRI UG URUT el

) ar/fm e/ fore faeudh T ot TR e SRIvITE TRST ATel uvg e/ forean Fadan
TREURT el Jiearean 3d el TR AT 0] SaHID 3.

®) SR ar/foma IShmET TR IRd, IR AT/ R ISTARIR U5 SUIHIIT UTedTd oTRle.

Tt SR :

q) (31) Fh R) (31) Sfdr (3) wh 3) (81, (3) ST (&) ) (F) Fh

Regarding the office of the Lok Sabha Speaker, which of the statements given below is/are

correct?

a) He/She holds the office during the pleasure of the President.

b) He/She need not be a member of the House at the time of his/her election but has to become
a member of the House within six months from the date of his/her election.

c) If he/she intends to resign, the letter of his/her resignation has to be addressed to the Deputy
Speaker.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (c) only

NPT SIS T HHid, Wiefletdh! Pivr UM aRIsR 3 ?

31) NPT PRIUE! 3T Db FIHAR, SUTHIdrET Faeus aurdd! FiET axa @
TRGT Blael.

9) AFIHT ITFHINIGRAT IHGIRTE Fas & v Rl vy fohar Tt veas <grelt, areft
3IfYard RIS M.

%) ITFHIAHT THGTAT d3bId STEIERYM IRAM THIISaDhd JAIBR SRIAT MO i
ffriaeg Prudgr srler el ST AT

3) SRt TWie_aT FgRhieTect JRefid ey T 31t 31Tg & 81 IR AHIICIGR HiSa STl 37T
T UTIIFIGR A el S,

HERTY ST ARRY HaT GIURIET AR - R JISTHIRUT 0T oI / 8y



4)

4)

5)

&)

6)

gt SR :

q) (31) Sfr () Hh ) (31), (3) M (F) 3) (F) oMfr (%) 8) (@) SMfor ()

With reference to Deputy Speaker of Lok Sabha, which of the following statements are correct?

a) As per the Rules of Procedure and Conduct of Business in Lok Sabha, the election of Deputy
Speaker shall be held on such date as the Speaker may fix.

b) There is a mandatory provision that the election of a candidate as Deputy Speaker of Lok
Sabha shall be from either the principal opposition party or the ruling party.

¢) The Deputy Speaker has the same power as of the Speaker when presiding over the sitting of
the House and no appeal lies against his rulings.

d) The well established parliamentary practice regarding the appointment of Deputy Speaker is
that the motion is moved by the Speaker and duly seconded by the Prime Minister.

Answer Options :

1) (a) and (c) only 2) (a), (b) and (¢) 3) (c) and (d) only 4) (b) and (d) only

31) WISt AR AU ¢ TG ASHITGR IR dhetel AU Mg S Mg A ATa! g hass HRATA
IFucHT AAFASRIT el TR

q) sfeliped, SIENIT TUTd YRATAT FHed WioT AGRITE f[JERie ASR PRuAm 3l 3.

Riceh! DU I SRIER 318/ 3R ?

q) (31) Fh ?) (¥) weh 3) (an) 3for () S %) (@) foa (9) SR I

With reference to the Parliament of India, consider the following statements:

a) A private member’s bill is a bill presented by a Member of Parliament who is not elected but
only nominated by the President of India.

b) Recently, a private member’s bill has been passed in the Parliament of India for the first time
in its history.

Which of the statements given above is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HRATT FH, TN TRaral Sl ...

q) ISl ATeT+G Tearedr [Hfead fasameR e warft <o

Q) el A= weg Afecht Mesl H% <01

3) areMTeaT Al fafde <en ot aRvaRT TRam <o

8) PTel Aol SFfud fhar faes acHTdl quRlt eRuaTATSt wrfaTdl g8 @derr
In the Parliament of India, the purpose of an adjournment motionis .............
1) to allow a discussion on a definite matter of urgent public importance

2) to let opposition members collect information from the ministers

3) to allow a reduction of specific amount in demand for grant

4) to postpone the proceedings to check the inappropriate or violent behaviour on the part of
some members

SiegT TETe [I0ae FAeT Qival AHNERAT g Sohiell Fardel ST degl d ASR x1d aiTd
q) IR I AASH PRUMAT AT A qgaa 2) i Tqeiier Tewy SuiRUd 3for JefgH

3) WUNER S qefier Sged 8) AHRIER Ul 9ged

HERTE IISTART ARRY AT GEuRIE AT : YRR ISTHIRUT SATOT ST / 8,



7)

<)

8)

)

1)

Q)

2)

When a bill is referred to a joint sitting both the Houses of the Parliament, has to be passed by
1) a simple majority of member present and voting

2) three-fourths majority of member present and voting

3) two-thirds majority of the House

4) absolute majority of the House

GTefietidh! DI e SRR 31ed /3med ?

37) AHAHT aAfed SRTelel U AU T Jeaaleial & 2.

) TG TASd 3RAetel AU, ST A AR el ATal, O Ayl [ I8 UK e,

gt SR :

9) (31) Hh ?) (@) T 3) (a1) 3Mfor () Qret 8) (31) bt () Shel il

Which of the following statements is/are correct?

a) A Bill pending in the LokSabha lapses on its prorogation.

b) A Bill pending in the Rajya Sabha, which has not been passed by the LokSabha, shall not lapse
on dissolution of the LokSabha.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

) ST A 9 i SeEeR!
Wrelettid! P At e Watd Bt @R a2

q) I ol . Q) 3ierST Hferelt

3) ISP Iush AL g) Tfrepiar Fiec

Which one of the following is the largest Committee of the Parliament?

1) The Committee on Public Accounts. 2) The Committee on Estimates

3) The Committee on Public Undertakings. 4) The Committee on Petitions

WTeflerddh! o e sRIsR 31mg/37med ?

P RATASIS TG AT .o

) AHIIT Y U&TT TR TS TN

¥) WRepRAT faffr snfor fa Wi 8- axd

P) URA FRED T AeleRaT TRieidh TraT Jgareli URIeT o,
Tt S :

q) (1) wh R) (87) 3T (F) wh 3) (31), (3) 3 () 8) () M (F) Feh
Which of the statements given below is/are correct?

The Parliamentary Committee on Public Accounts.............

a) consists of not more than 25 Members of the Lok Sabha

b) scrutinizes appropriation and finance accounts of the Government

c¢) examines the report of the Comptroller and Auditor General of India.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

HERTY ST ARRY HaT GIURIET AR : HRRT JISTHROT Tf0T TR / 80



3)

3)

4)

4)

AR AT AT, Wiefierdeh! DIvf FaaRT At BT =l T AURIETET 3TgdTdl odf Pl B,
oy, Sufey, Sufdelt 5. gquar SR T feetel 3mgd fdhar T feoier amed. arem ufarfeft
HEodTAT Pad PRIGINUIGR IISTT I AR el STl Pl 7

9) RPN IMERFTRI Afrel Q) e PRIfINIS At

3) fom afeh ¥) FIAR AGNR A

With reference to the Parliament of India, , which of the following Parliamentary Committees
scrutinizes and reports to the House whether the powers to make regulations, rules, sub-rules,
by-laws, etc. conferred by the Constitution or delegated by the Parliament are being properly
exercised by the Executive within the scope of such delegation?

1) Committee on Government Assurances

2) Committee on Subordinate Legislation

3) Rules Committee

4) Business Advisory Committee

YRATHS ATeSTep feRiTeR el F=0TeaT ietletch! PIuaT Ugel! 3Ted ?
31) AR a1 3nffes faeRor AR ot
q) fafamT fage HoR ATedroRd WRATT Ui el URY o

) YR QM 01 HIGreaT WIAredl dRdal

T) AR 31eRihed HRITCRITGR AAE! 3 3T nfoT WaifiRng IRPRAT BRIHATT FHaddhTierd
fepan fehHT Heg—auie Sfarar

3) T fo fade Hignr

Tt} SR :

9) 31, §, P, ST )3, d, SAMTTTeh 3) 9, H VIS Hh  ¥) 31, &, P 3T § Beh

Which of the following are the methods of Parliamentary control over public finance in India?

a) Placing Annual Financial Statement before the Parliament

b) Withdrawal of moneys from Consolidated Fund of India only after passing the Appropriation
Bill

c¢) Provisions of supplementary grants and vote-on-account

d) A periodic or at least a mid-year review of programme of the Government against
macroeconomic forecasts and expenditure by a Parliamen-tary Budget Office

e) Introducing Finance Bill in the Parliament

Answer options :
1)a,b,c,dande 2)a,b,d and e only 3)b,cand d only 4)a,b, candeonly

he TRPREAT Feuld Wiellel M faraRra .

37) AT AR BUIRT I 3reRiched TIR IRuIT STaTeeR Hevel faumt arfal

) RT FHCT IUGAATR AR ThAd Fefiqd PIordigl e+ dredr AR AT,

&) AESID IR heted A IR HRAR FRedhgT MDAl EHID 31

R feolelt Wieiletdh! Pl fer sRIsR 3fed /3med ?

q) (¥) Bh R) () arfer () 3) (ar) afor (&) 8) (31), () 3Mfer ()

HERTY IS ARRY HaT GIURIET ARR : HRRT JISTHROT TfO0T ST/ 8¢



5)

&)

6)

7)

<)

With reference to the Union Government consider the following statements.

a) The Department of Revenue is responsible for the preparation of Union Budget that is pre-
sented to the parliament

b) No amount can be withdrawn from the Consolidated Fund of India without the authorization
of Parliament of India.

¢) All the disbursements made from Public Account also need the Authorization from the Par-
liament of India

Which of the following statements given above is/are correct?

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

Tt fdet a19d, Wrefterdc! Pror fem RaR e ?

q) SR QTR fIUTDBIT POl PR G, I5 DU, HIhI, Ieaf febar R Fefrd aRaal RFchel TR d
¢ fagad gt STedl.

R) T fdcmed WRArT Tepfa Feft fohar wRarn smefeies el qreard davarh dRAg 3.

3) T et ARarRAT s el U fafammel wefta o1

8) T fie MR WRBREGT U SUR guared fhar diorcdidl gt Svaren FHamerelt et o

Regarding Money Bill, which of the following statements is not correct?

1) A bill shall be deemed to be money bill if it contains only provisions related to imposition,
abolition, remission, alteration or regulation of any tax.

2) A Money Bill has provisions for the custody of the Consolidated Fund of India or the
Contingency Fund of India.

3) A Money Bill is concerned with appropriation of moneys out of the Contingency Fund of
India.

4) A Money Bill deals with the regulation of borrowing of money or giving of any guarantee by
the government of India

I T fiemed HEeyl GURCT Bty BT B1sct ?

q) SNl TRIg! g RIeRet Wiere fhar 9 wieRdr, [TUgeRId e S, e

Q) AHEHT T fIIRR 31t faaR % Ihd AT,

3) NPT g [t IuHes JAfTaR™IS! UIaq. e,

g) IFUCH fILRID AR PRUITIIST AGh oo dleid, b,

What will follow if a Money Bill is substantially amended by the Rajya Sabha?

1) The Lok Sabha may still proceed with the Bill, accepting or not accepting the recommendations
of the Rajya Sabha.

2) The Lok Sabha cannot consider the Bill further.

3) The Lok Sabha may send the Bill to the Rajya Sabha for reconsideration.

4) The President may call a joint-sitting for passing the Bill.

Grefid faum R &

37) ISTAHET AT fdet AThRUITT fhar QT YR RUITET ATUBR ATET
) SIRAHT IS AR G o 20ehd el

P) ITAYT a1 3 [IaRug=AER Id] B 2Tehd Tal.

HERTY IS ARRY HaT GIURIET AR - R JISTHIRUT A0 oI / 4%



8)

)

1)

?)

RIS PO AU sRISR 312/ 318 ?

9) (a1) 3mfor (@) wh ) (31) AT () 3) (@) snfor () 8) (31), (3) 3T ()
Consider the following statements:

a) The RajyaSabha has no power either to reject or to amend a Money Bill

b) The RajyaSabha cannot vote on the Demands for Grants.

c¢) The RajyaSabha cannot discuss the Annual Financial Statement.

Which of the statements given above is/are correct?

1) (a)and (c) only 2) (a) and (b) 3) (b) and (¢) 4) (a), (b) and (¢)
% ISThIY 9&T SATfOT SE19 IS
¢) RISTHIT G&T IFTfOT ga19 7T

gTefter o formra &

37) Ul oAieasd afd Hier faRielt uer wece uer giar

9) Arpand %68 T ufgeaiar foRTeht qarier wgu AT fAesTett,

%) AlPAN, TETE T fhATM Y FERT TN, T FATel faRIdT gemar =gud AT fSeht ST
9rehd el

eIl DIV U™ IR S8 /3 ?

q) () 3T () B ) (31), (@) A () 3) (I) Fb 8) (31) 3or ()

Consider the following statements:

a) In the first Lok Sabha, the largest party in the opposition was the Swatantra Party

b) In the Lok Sabha, a “Leader of the Opposition” was recognized for the first time in 1969

c¢) In the Lok Sabha, if a party does not have a minimum of 75 members, its leader cannot be
recognized as the Leader of the Opposition

Which of the statements given above is/are correct?
1) (b) and (c) only 2) (a), (b) and (¢) 3) (b) only 4) (a) and (c)

Gleflel gedrar fqarR a1
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Consider the following events

a) The first democratically elected communist party government formed in a State in India
b) India’s then largest bank, ‘Imperial Bank of India’, was renamed ‘State Bank of India’.

¢) Air India was nationalized and became the national carrier.

d) Goa became a part of independent India.

Which of the following is the correct chronological sequence of the above events?
I)b-c-d-a 2)c-b-a-d 3)c-a-b-d 4)d-b-c-a

R) Fasu J=om g ufthan

QAT DIV I /7 SRR 3R/ MR ?

37) HRAT, TohT AT (HaSUEhId SHGIRMT TiiF FAGRHERIT AQUITT Ufae FROTRT DIVITE! PRIGT
AT

) A]R9 AT AlPHHT FaSUhid 2 dierel At o SAlharT FAGRAENIT Faeud FIeact gi.

) faed™ FRIFER, SR TERI IHGIRM Tl ATy fHaeu[ehid 3d HaqRAHT T Masuh edet!,
anfor wd ot d e, FaR @M/ Reh dhelean AaqRyAgikdiel dicHasuhrar @d T

/forean germ Sacter Tife.
it S
) (d) Hh Q) (3) 3nfor () 3) (@) 3for () 8) (31), () 3fr ()

Consider the following statements:

a) In India, there is no law restricting the candidates from contesting in one Lok Sabha election
from three constituencies.

b) In 1991 Lok Sabha Election, Shri Devi Lal contested from three Lok Sabha constituencies.

c) As per the existing rules, if a candidate contests in one Lok Sabha election from many
constituencies, his/her party should bear the cost of bye elections to the constituencies vacated
by him/her in the event of him/her winning in all the constituencies.

Answer Options :

1) (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

AT FISUPRITS!, IHGIRT 3FSt ARl Idl

9) HRATT EUTRT DU

R) T AACRAERT Fasud dedr! 3 ddie Ifgard.

3) YRAW PRl ANRG SAT A1 AR T 3.

¥) MR PV ANTR.

For election to the LokSabha, a nomination paper can be filed by

1) anyone residing in India.

2) aresident of the constituency from which the election is to be contested.

3) any citizen of India whose name appears in the electoral roll of a constituency.
4) any citizen of India.
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CISICECRIERCEING R

31) P fobar 59 faurRasea Faeuhla, ookl SHeaRTer fFagd aielel Tfta axuard!
Yo TH A BT IMTTID 3.

) YR IFESHT TG heted] TRAITAR, AU ALEUG TgAR U&TDhs T0 SUHIIHIG
faRTelt gammeps S

RieTdeh! DIV fTUM TR 318 /3 ?

9) (31) Th ?) () o 3) (1) amfdr (@) = ) (3) fobar (9) S e

Consider the following statements :

a) In the election for LokSabha or State Assembly, the winning candidate must get at least 50
percent of the votes polled, to be declared elected.

b) According to the provisions laid down in the Constitution of India, in LokSabha, the Speaker’s
post goes to the majority party and the Deputy Speaker’s to the Opposition.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

q90) Fgsuhidier HAfN

(&) ST FERATH, AT J&IHAL G AT — YA,

PR 9 PRI, I fAftEs - fda==avr, fAumuRye T =

9)
?)
3)

4)
&)

¢)

WS, AfhR, SR 9 Y, e wfer
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q) YIS — YfADT, PR g Brf

el PO T SRR 32 ?
q) HRAT Uhrd Shicll Thrd dobt QM fohaT 31 ISTTRITS! IsauTe v Rfeh el 3 Te.
R) WRATIS TN I8 IR =IRITEeITdT FRIThT ISTUTeAiGR Shetl STl SATSHTO] et =IrTerre

~grmefier guct igeh R,

3) ISTUTCATET RTAT UGTaRe gCaudTd! Pivrciial Hfshal AR Isdge-id b1l faetel! ATel.

8) DGR TR U I99T I, TREH=E! TR SIRISIUTel JgHTT SRR
hdTd.

Which one of the following statements is correct?

1) In India, the same person cannot be appointed as Governor for two or more States at the same
time.

2) The Judges of the High Court of the States in India are appointed by the Governor of the State
just as the Judges of the Supreme Court are appointed by the President.

3) No procedure has been laid down in the Constitution of India for the removal of a Governor
from his/her post

4) In the case of a Union Territory having a legislative setup, the Chief Minister is appointed by
the Lt. Governor on the basis of majority support

GIeHICTUD! PIUIAT T Fade! i IAUTe g IaTaTeRie] HiISd Schl SRAde 0T IR ISThid e
clel 3ffeTd AfhAtd of¥Ia fhal fefiereadl Prald ISTHRONT | Hfell a1 2

q) UfRAT TRIDI URUT SR (9R&€)

R) MR A (9R€R)

3) TRPINAT AN (9%¢3)

8) AT BB JAREAD PRUIMIS! IE- 3TN (000)

Which one of the following suggested that the Governor should be an eminent person from out-
side the State and should be a detached figure without intense political links or should not have
taken part in politics in the recent past?

1) First Administrative Reforms Commission (1966)

2) Rajamannar Committee (1969)

3) Sarkaria Commission (1983)

4) National Commission to Review the Working of the Constitution (2000)

@heftet faum foawma =

37) ISTTAT ISIITATAT BRIDIOIT DIV ~TRITITT hISIER] BRATS hoil SUMR ATgY.
) AT ISTITAT AFEA 30T 97 AT YSTAT BRI PHT el STUIR ATgId.
RITUDT PIvT I RISk 31/ 38 ?

9) (31) weh ?) (3) weh 3) (30 emfor (3) A= 8) (&) fber () I TR

Consider the following statements:

a) No criminal proceedings shall be instituted against the governor of a state in any court during
his term of office

b) Emoluments and allowances of the governor of a state shall not be diminished during his term
of office.
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Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

RIS IUTATT Glefierden! Divrd fadarefs 1R et Sirard ?

37) U ISTIC AN PROANATC! ARATAT IFAAHT FgaTel aTeau.

¥) T g ol

®) I fauFHE®EH IR delel Pral IO AR Igydien fGarme IRgT Saur,

3) 5T TRBRA DB ATAIUIRITS F5H §=aor,

gt SR :

q) (31) &fr (3) B Q) (31) MM (D) ®h  3) (3), (D) 3N (3) ) (), (), (@), (3)

Which of the following are the discretionary powers given to the Governor of a State?

a) Sending a report to the President of India for imposing the President’s rule.

b) Appointing the Ministers

c) Reserving certain bills passed by the State Legislature for consideration of the President of
India.

d) Making the rules to conduct the business of the State Government.

Answer Options :
1) (a)and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

R) T 9 HiZHE® - YT, AfER g w1
3) TSI HETfeeshl
¥) 59 AT

y) faurr - R, Srf g yfw

greflel faum o &

37) ARAKRIS WETer AT f[auraReedr 3R @1 AR Isaren faumsas=an sreafuar doT oRy,
Tl

¥) ETET ISR oAU 1 e g e aRvesaT seme AR R

RIDT PIvT I RISk 3R/ 38 ?

q) (31) weh ?) () wh 3) (1) afor () q 8) (31) feban (%) argrer el

Consider the following statements:

a) The Legislative Council of a state in India can be larger in size than half of the Legislative
Assembly of that particular state.

b) The Governor of a state nominates the Chairman of Legislative Council of that particular
state.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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) FUFIRYE - SRBR, B Yfir
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wrefler faem faarma &

37) faume sree /R JumRs Fe I |G foelel U |iem.

q) StegT Siegl Uy i el SiSel degl 31egem 3iUel Briie didedld R R
RITDT PIvT I RISk 3R/ 38 ?

9) (31) eh ?) () Bh 3) (31) Mo () St ) (3) bt (9) Qhel
Consider the following statements:

a) Speaker of the legislative assembly shall vacate his/her office of he/she ceases to be a member

of the assembly
b) Whenever the legislative assembly is dissolved the speaker shall vacate his/her office

immediately
Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TR TR AT RIS eyid, Wiefler faem feaRma &

37) gutan ufgean FamaT R ST AT AT AgH R HIN0T R,

¥) Sl WarE T fAuHeor tEren e fvaer W Far a9 1 fIsieR A
MR 9T .

RIDT v I sRISR 32/ 38 ?
9) (37) Heh R) (d) Bh
3) agr () S () 8) aleral (31) febar (@) At

With reference to the Legislative Assembly of a State in India, consider the following state-

ments:

a) The Governor makes a customary address to Members of the House at the commencement of
the first session of the year.

b) When a State Legislature does’ not have a rule on a particular matter, it follows the Lok Sabha
rule on that matter.

Which of the statements given above is / are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

¢) fRehvss afden
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(1) GEIRIC XTSIt Shict, ©3 F A0 oy &t gl
RIS RIS ALAT / GERId IISTal Sehicit
93 dt 3TfoT Wy It gHwI

q) AP TRIST GRAT/ TR STt Iehictt
TATIC IS FaRID gt Ife¥ Wiefleridh! o GHABEd avor a1 ?

< VRCEARSISRSICRRE L E)RS A RSEIES]
P) BTSN fIcheepsor 3) onfdies STHaToHa
Tt SR

9) (31) 3T (9) HBeh Q) (31) 3N () 3) () 3fvr () 8) (31), (), (@), (3)

The fundamental object of Panchayati Raj system is to ensure which among the following?

a) People’s participation in development b) Political accountability
¢) Democratic decentralization d) Financial mobilization
Answer Options :
1) (a)and (b) only 2) (a) and (c) 3) (c) and (d) 4) (a), (b), (c), (d)
TN TR /AR ..o TEU STH Ui el TS e
9q) FERNT ) APE b= 3) U s 8) AT AT
Local self-government can be best explained as an exercise in...........
1) Federalism 2) Democratic decentralisation
3) Administrative delegation 4) Direct democracy
2) 13 &t anftr uy It gowil
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(¢) IHIEIRIC, diefent Yemrdd, foreat aRRyg anfor gmfdepra

TTRTHT ST IO
ATIDT GarI
RregruRug
DIEICCIRIEIR P

q9) YTHRTYT 30T A==

TIPS Feyid, Wieliefid! Piv faem aRIsR 3e/31med ?

37) MUMTATAR, T =R dhdes amft Weearda At &% ohdrd, hiseR! Weet ATgid.

9) &1 PIICT RS NG HRIGET HeIR /TS FeUH R <o,

gt SR :

q) (1) wh ?) () wh 3) (31) 3Mfor () Qe 8) (31) bt (9) Shel Tl
With reference to the ‘Gram Nyayalaya Act’, which of the following statements is/are correct?
a) As per the Act, Gram Nyayalayas can hear only civil cases and not criminal cases.

b) The Act allows local social activists as mediators/reconciliators.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

Q) dTe[ehl J=rId

3) fSiegr aRee

fStegr wfior faeprd F¥T (DRDAS) HRdTciler FHITT TR ehHT ehRUIISH hefl Hed el ?

37) SIRSIY <QMTclieT el fARIE ANMNAciedT UQTHE JaTIdT J1oT ¥l FgU I hra.

) DRDASs SR AT HUINUTAT SHRUMET &3 —fIfRre aeiif+es 3T-IRy hxdid ST qusiiclaR SuaRIeTH
SYUTT JIR hRdATd.

%) DRDAs TRRI drighaar g9t sHaesauiiard! ficR-&=r anfor sidR-faurftar aa -
31T Ageprd FRIar I

€) DRDAs <& aRad 3T iR wrisaamc s’icter frefar aamd amr gffead awdrd.

gt SR :

q) (37) ST (F) W ) (31), (F) MO (®) 3) (30), (@) 3O () 8) (30), (@), (P), ()

How do District Rural Development Agencies (DRDAs) help in the reduction of rural poverty in

India?

a) DRDAs act as Panchayati Raj Institutions in certain specified backward regions of the country.

b) DRDAs undertake area-specific scientific study of the causes of poverty and malnutrition and
prepare detailed remedial measures.

c) DRDAs secure inter-sectoral and inter-departmental coordi-nation and cooperation for
effective implementation of anti-poverty programmes.

d) DRDAs watch over and ensure effective utilization of the funds intended for anti-poverty
programmes.

HERTY IS ARRY HaT GIURIET AR : HRRT JISTHROT Tf0T TR /Yo



Q)

2)

)

1)

Q)

2)

Answer Options :

1) (a) and (b) only 2) (a), (b) and (¢) 3) (a), (c) and (d) 4) (), (b), (¢), (d)
CISICRCRIERCEING R

37) TIRIT FE RIS PIOITE! 2RhTe kT delet AT 971 2y MR

q) 3rprelt AT IR GARET dhetell GRIT theh IARd IAEURITG dTe], ITad.

R DIV UM TR 318 /38 ?

q) (1) wh ?) (@) wh 3) (an) Smfr (@) St 8) (3N) fobar (9) I
Consider the following statements:

a) The minimum age prescribed for any person to be a member of Panchayat is 25

b) A Panchayat reconstituted after premature dissolution continues only for the remainder period.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

¥) JMfAprRATE I

SR ST STIfOT SR URUTRE aardt (3 geprd! AIdT) STfUfRIH, Q00€ idd, dafthds fbar
AT 3 geh fobal Qlvard Ta%ed ST et M3 axuvare! Uisham TR axuaraT TR DIvTel
3RIe ?

9) T G TR R) Rieai¥iprt / SurRgch

3) dedleieR/Te fadrT SiferarT g) AT

Under the Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights)
Act, 2006, who shall be the authority to initiate the process for determining the nature and extent
of individual or community forest rights or both?

1) State Forest Department 2) District Collector/Deputy Commissioner
3) Tahsildar/Block Development Officer 4) Gram Sabha

TR (IR &FET fORR) Siftfe, 9]%¢ SfcHid FHIIE SRTeiedl HIT, FFAH feT / erchl

T 3R ?

3T) JTRIHET SRR &l S SMTesuul IRGUITE JAfUPR 3T,

) T gAOSTE] Hietd! ARG 3R,

%) ST AN DUl WISTRIS! FH U= fohal @07 SISl ASR SPRuIRATS! ATHRTHT
fPRA 3RS 3.

i SR :

q) (31) SMfor (3) Hh ) () AT () 3) (@) for () 8) (31), (3) amfor ()

In the areas covered under the Panchayat (Extension to the Scheduled Areas) Act, 1996, what is

the role/power of Gram Sabha?

a) Gram Sabha has the power to prevent alienation of land in the Scheduled Areas.

b) Gram Sabha has the ownership of minor forest produce,

¢) Recommendation of Gram Sabha is required for granting prospecting licence or mining lease
for any mineral in the Scheduled Areas.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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q)  forcgT Herdht T
) Ui g
3) ATRY RIS RIS AT

9) TRUARI, TRURYS g BIEUit

Q) HEMTRUTfeTaRT

3) TR Ao 9 TRRBRT

q) fSregT Hercht TemR
Q) Uit JeTRaA

3) TR WIfRe WRST A=A

9)  Grefledhl DI ™ SRS 3fTed /3R ?

HRA, U HgFPR RIS et L

37) WRAT ISTECTT RAGITIR RATIT dell Teft 37T,

¥) HEFTR SFRITS UReY fdepRT 3TRRGS TR .

%) HEFRR &1 e TN ST AU TedTs SISeR 3R

gt SR :

9) (1) ST (F) Hch ) (1) M () 3) (3) smfor () 8) (31), (3) amfor ()
1)  Which of the statements given below is/are correct ?

In India, a Metropolitan Planning Committee ..............

a) 1s constituted under the provisions of the Constitution of India.

b) prepares the draft development plans for metropolitan area.

c) has the sole responsibility for implementing Government sponsored schemes in the

metropolitan area.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
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(90) HEER BRI, R

AT FRETANIS BRI

Hifecht sifdrpr srfafHam

HERTY ATdSIe oAlhaaT ge AT, 2094

q) PN Feard! b g e TRag

Q) PRt FEfd I T STeBRT

3) PRI I d govdl, 3fdlet, PRIam Ihidl d goR FTl

q) MR FRETATID BRI
MR SIRIPR’ AR ISTgeTeaT P HATTAR IRfad 378 2
9) P Y R) Pt IR 3) P N 8) P R
‘Right to Privacy’ is protected under which Article of the constitution of India?
1) Article 15 2) Article 19 3) Article 21 4) Article 29

‘S Ut gRetaeT diae, aj¢¢ (PBPT &Rier)’ o1 Siguid Wiefleidd! PIvi faem sRisR 3/

3e ?

31) AR FgR & SM! FdgR HFeT Sid ATal SR AT Hicldhlell @Rl Jlfadt —¥ie.

¥) ST HIGTHRT IRPR SH PRUIRT SEESR 378,

&) PRIGT JURIRIS! T TR GRS xal IR DIVATE! JMdieiid TF0E aRag $Rd Ta.

Tt W :

q) (@) ST () B ) (31), (3) ;M () 3) (3) B 8) (31) Mo ()

Which of the following statement is/are correct with reference to the ‘Prohibition of Benami

Property Transactions Act, 1988 (PBPT Act)’?

a) A property transaction is not treated as a benami transaction if the owner of the property is not
aware of the transaction.

b) Properties held benami are liable for confiscation by the Government.

c) The Act provides for three authorities for investigations but does not provide for any appellate
mechanism.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (b) only 4) (a) and (c)

CICICRERIERECING R

37) YR & IR, 9]0 AL 3fefiheid GURUAR, IAARIAT aHaETER Iaetel Fig dreudram
SIRIPR 3R

9) SR ST 3fT 3R URUTRe aFartt (a7 gesTdl HaaT) SR, 00€ TAR, T8 31T o
e 3Te.

) SFIGLIT SHIC 30T R IRUTRD It (3 geprl HFICT) PRIGI, 008 FIRIAT 3fed a
SCATCHTET HieTdhid! TRamt <.
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R DIV UM TR 318 /3 ?

q) (1) wh R) (87) omfdr (@) ww 3) (31), (3) o7 () 8) (F) N (F) Feh

Consider the following statements:

a) As perrecent amendment to the Indian Forest Act, 1927, forest dwellers have the right to fell
the bamboos grown on forest areas.

b) As per the Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest
Rights) Act, 2006, bamboo is a minor forest produce.

c) The Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights)
Act, 2006 allows ownership of minor forest produce to forest dwellers.

Which of the statements given above is / are correct?
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

HRATN T PRI RISJAR ATebreal gep /faemfipRic deufd, @refieidd! Hivr U sRIsR

3Te /3T ?

37) TMEHT F UG T Boara SR et e,

q) SiegT UTEh DIV Tgh HATd TR GRES PRl <egl PIvKclal Yo R RIS ATa.

&) TTEhraT FI eI, T/ @ dRiqeiR are @reat/Rrear adfis a1geh Fa1d ThR SRl %
SEI

Tt S :

9) (31) 3mfdr (3) wh. ) (3F) 3T () 3) (3) ST () 8) (31), (@) smfvr (<)

With reference to consumers’ rights/ privileges under the provisions of law in India, which of the

following statements is/are correct?

a) Consumers are empowered to take samples for food testing.

b) When a consumer files a complaint in any consumer forum, no fee is required to be paid.

c) In case of death of a consumer, his/her legal heir can file a complaint in the consumer forum
on his/her behalf.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

CICICRERIERCEINC R

37) AR YT PRETTHR, fSI10 TIR FRuIrAT Sifdd Ufshail AR U &8ss e

¥) URAIT sifgd Ul el Hee Al

&) FIETHET STl WRATT U QU uTa ATeiel.

RITDT PO AU sRISR 3112/ 318 ?

1) (@) ST (&) wH - 2) (3), (@) M () 3) () b 8) (1) amfor ()
Consider the following statements:

a) According to the Indian Patents Act, a biological process to create a seed can be patented in
India.

b) In India, there is no Intellectual Property Appellate Board.

c) Plant varieties are not eligible to be patented in India.

Which of the statements given above is/are correct?

1) (b)and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)
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TeAcTUeh! PO fe aRIsR 3TTed ?

37) TRBR BRI MIBRY 3T BrRIR TR SrfraehT TV 3fidel ST, TRy HIANT dehiet AT
UCE gehlel IT STfrah FgUd AT U JIeudTd 37lel 3.

g) faeft fareror anfor fef merfeer=T AT <varEE Ay disvamar PR IR PifAerd 3R,

Tt S :

1) (3F) eh ?) (@) FH 3) (3 afdr (@) = ) () bt (3) S TR

With reference to India, which of the statements given below are correct?

a) Government law officers and legal firms are recognized as advocates, but corporate lawyers
and patent attorneys are excluded from recognition as advocates.

b) Bar Councils have the power to lay down the rules relating to legal education and recognition
of law colleges.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

) Hifgeht aifdepR arfdfFam

HIRIETIE HgwaTe e g frerdt axag
Praeneft Fafia I=om g ey
PRI I T GORAT, 3dTet, BRI Jesbici! G aR qrat

3) UERIE AESIHeh Alhvidl gg AT, 209y

HRIETI Agard! B d fA1er aRg
Praeneft Fafra I=om g ey
PRI Al T GORAT, 3dled, BRI Sesbici! G Sax qrdt

(99) U9TRI — AIdSI-h ¢RUY 30T hRIHH

AT ENRoT
AT BRI

Ao faeerT

TR ¢RVT g Flaem
Herforep eRor g faera
TSTRIDIT T
UTferhROT SO T
facfia wemRT=
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1)

)

1)

Q)

2)

q9) ARG 9RUT

R A T g YR HSHTT aTelieriel iU U aRIER 3R/ 3R ?
37) o QT fae arier S7foT TRIPS AIST ARATAT Fa-dgcdl JToaR &
9) 3ienfies uRor 3nfor e faumr & R difgs Tuer iR/ fFmT aRuRY Aieel Todt

3.
Tafft SR :
9) (31) weh ?) () Fh 3) (an) 3mfdr (9) St ) (3N) fobar (9) S A
Which of the following statement is/are correct with reference to the ‘National Intellectual
Property Rights Policy’?
a) Itreiterates India’s commitment to the Doha Development Agenda and the TRIPS
b) Department of Industrial Policy and Promotion is the nodal agency for regulating intellectual
property rights in India.
Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) AT PrRisha

'a11Riep R SMfor faepry aRus’ Aeuia @ietledeh! IvR faem aRIsR 318/ 37Ted ?

37) &I Il SR Ueh a3

9) I Aq@ b it FRar.

®) O iR Honl-FSRRIe uddema FRIer e

Tt SR :

9) (@) 3N (P) B R) (81), (3) M (F) 3) () b 8) (31) SMfor ()
Which of the following statement is/are correct with reference to ‘Financial Stability and
Development Council” ?

a) Itis an organ of NITI Aayog.

b) It is headed by the Union Finance Minister.

c¢) It monitors macro-prudential supervision of the economy.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

GTeflethl DI TR ‘Toff= oft Fefdra aed ?

1) foma smam 9) I foerT aReg.

P) Dol AT AT FTer. 3) Pl MRt fapRT TR 3) IS
qift S :

9) 31, 9 AT § Beh ) 3, §, P, S 3

3) § 3701 § Beh g) 4, P, S Bh

Which of the following are associated with ‘Planning’ in India?

a) The Finance Commission b) The National Development Council.

¢) The Union Ministry of Rural Development. d) The union Ministry of Urban Development
e) The Parliament

Answer options :

1)a,bandeonly 2)a,b,c,dande 3)band e only 4) b, ¢, d only

HERTE IISTAFRT ARRY HaT GEuRie At : HRR IISTBROT STOT TR / €3
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1)

)

1)

3) i AT

A Aldhel IRAT Seeadic WhH (TeTe—3e) 3idiia fefier deuid, Wreflefud! v faum SRR

AR ?

9. T8 MU aR IRF, e sdiad! Hifte drRmd GRURIRET e Ao i
FRUITSH bl TTfRoT,

. TR GRIERTAT el fafdre 9 83 /¢ eeviRaet aAryel urfest

3. T3Te-Is Ml a1fieh SMURTER HSR el ST STIOT 7 aTiRelen eft geiet autardt ge el Sirss <rehd
AT

8. Ricg MR SRadl sHceSaut Sicid |d SHM! fFAM d00% TURIUT Ul MaTIH 3TTe

GTeflel PIS Ioe TR IR FAgeT:

9) Weh 9 3T ? Q) eh 3 T ¥ 3) 9,300 3 Beh  ¥) 9, M 8 Feh

With reference to the funds under Members of Parliament Local Area Development

Scheme(MPLADS), which of the following statements are correct?

1. MPLADS funds must be used to create durable assets like physical infrastructure for health,
education etc.,

2. A specified portion of each MP’s fund must benefit SC/ST populations
3. MPLADS funds are sanctioned on yearly basis and the unused funds cannot be carried forward

to the next year.

4. The district authority must inspect at least 100% of all works under implementation every
year

Select the correct answer using the code given below:

1) 1 and 2 only 2) 3 and 4 only 3) 1,2 and 3 only 4) 1,2 and 4 only

) STRIRI HRUT, [iAUT T UIN0T HRIsHT

SR RA fSfiea ferea dewid, @iefierth! Pivrdt fdum sRIsR aimed ?

31) Wrortt 3Nfor AT eI T B R /T Rl aTD 3R,

9) I ITRIT Phegssl UTH PRUIR Sfe® IRIeTM, TR T ARG Adch /T 9T gt

T,

%) AT QRIT 3RGs NI aTR.

gt SR :

9) (31) Sfor (3) Hh - 2) (P) Fh 3) (31) Srmfdr () B ) (1), (3) 3Mor ()

With reference to Ayushman Bharat Digital Mission, which of the following statements are correct?

a) Private and public hospitals must adopt it.

b) As it aims to achieve universal health coverage, every citizen of India should be part of it
ultimately.

c¢) It has seamless portability across the country.

Answer Options :
1) (a) and (b) only 2) (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

HERTY IS ARRY HaT GIURIET AR - HRRT ISTHRUT 0T oI / €8
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1)

?)

2)

3)

3)

4) 9afirep ¢ g fAd™

IR ST Wlefierie! PV avgarar framomer aRem gl ?

31) 5T YRR ARfeefe aw ) gl S ogst TR TR ARl
) el SrgRgE S) St SrgRgE g) ! SrgRgEt

Tt SR :

9) 3, 9, P, SIAMIZ ) H,TAMgHR 3)d, DAMSHh ) d, S AN g Feh
Which of the following provisions of the Constitution of India have a bearing on Education?

a) Directive Principles of State Policy b) Rural and Urban Local Bodies

c¢) Fifth Schedule d) Sixth Schedule

e) Seventh Schedule

Answer options :

1)a,b,c,dande 2)a,band e only 3)b, c and d only 4)b,d and e only

TR’ g AR WRERAT Uh I 3N, STl I ...

9) grfior YT S ST SedATET <ot

Q) TOU FIE-3Y eI 3Mfies 3foT difies TgRT USH hvul

3) fpeReRi Fefieam fRremr anflr sTRRaTe Hieare <ur

%) ARTRBGHT TRISUR M7 SoigR f3reror Hithe <ot

‘SWAYAM’, an initiative of the Government of India, aims at ..........

1) promoting the Self Help Groups in rural areas

2) providing financial and technical assistance to young start-up entrepreneurs
3) promoting the education and health of adolescent girls

4) providing affordable and quality education to the citizens for free

Tefierdeh! PIuTht e sRIsR / 31Ted 2

37) feremman iR (RTE) SRHIETAR, TR A1 Rigieh Fud Fghiel U gIvariel, warer
Frhids Heftd o et Riaror aRee FufRT deleft fFAT arEdr s/l smasae 3.

) RTE SRIETER, WAt i Rieauarid!, SHearTen e Riemomn sk aRyeear Arigeis
TR HUgTd 3Telell Riafeh UTIdT RIaT STvl ol 3aded 31T,

®) YRAT, Q0% Y&l ST farerds freror Tvelm e Iy ARBRIAT e 31Ted.

gt IR :

%) (@) wH R) (31), (@) Sr (@) 3) () Fh 8) (37) o ()

Which of the following statements is/are correct?

a) As per the right to education (RTE) Act, to be eligible for appointment as a teacher in a state,
a person would be required to possess the minimum qualification laid down by the concerned
State council of Teacher education.

b) As per the RTE Act, for teaching primary classes, a candidate is required to pass a Teacher
Eligibility Test conducted in accordance with the National Council of Teacher Education
guidelines.

c¢) In India, more than 90 % of teacher education institutions are directly under the State
Governments.

Answer Options :

1) (b) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

HERTE IISTART ARRY HaT GEuRIaT Al : R IISTHROT 371107 TR /€4
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1)

Q)

2)

3)

3)

€ ) TRIPIT I

5T T AT WAl DIV FTH SRS 31T 2

q) ITRT FRAVTIRIT gh SRICIA ST Hafed FRBIRAT T RTeled M3 UQemeR BRIFRaRat! el
PR hial TS

R) IR TR, BIIGT MMM GIGRAT IGUI,  ~Afiich STUDBRIT &0 PR 30T IS aTgrean AU
REJUT U A IAfUBR 3Retel Tl F3ET UeaTdidl ISThRIGET Fafed dld

3) TN FEpl, WORT S RARIE TebT FIREd Heend Seehies aReied RuM=IT 3 eehl

Y) P T, DGR ATRIARUTT STEEGER BRIDGRT SIRIBRT SN Faa —RIaTferd!, a1 FaH! Ib 3T
Tl (R T BRIREROUT MEUIRT TS

Which of the following best defines the term ‘State’?

1) A community of persons permanently occupying a definite territory independent of external
control and possessing an organized government.

2) A politically organized people of a definite territory and possessing an authority to govern
them, maintain law and order, protect their natural rights and safeguard their means of
sustenance.

3) A number of persons who have been living in-a definite territory for a very long time with their
own culture, tradition and government.

5) A society permanently living in a definite territory with a central authority, an executive
responsible to the central authority and an independent judiciary.

IRITAR FCIHD TRPR TGS .o

q) FARMHSSEIGR WDR ) DPOI WBR  3) IgUaid APR 8) FAIfe PR
A constitutional government by definition is a

1) government by legislature 2) popular government

3) Multi party government 4) Limited government

IS TRPR TGOS ............

9) HERNY TR IRTieT P Uffreft SRR

R) ARPR AT YETel AT SIBR 3fed

3) U TRPR ST YTl dR<ifdeh JUBR SATee

8) ESTAT TRAQTAR FATST TRPR

Constitutional government means .............

1) arepresentative government of a nation with federal structure
2) a government whose Head enjoys nominal powers

3) a government whose Head enjoys real powers

4) a government limited by the terms of the Constitution

gcHIcHD TRBR 3™ 3 ...
31) 5T et fRdraTet dufthes TR UHTET e Bretd,
¥) fches TaTd=areaT fRarITet Isaream UiftreRuner uHTdt e grer.

HERTE IISTART ARRY AT GauRIE AT : YRR ISTHIRUT SATOT ST / €8



4)

4)

5)

)

6)

9)

7)

Tl DU U SRR MR/ MR ?

q) (1) wh ?) () wh 3) QY (37) 3O (31) 8) SItet () fobert () il
A Constitutional Government is one which ..........

a) places effective restrictions on individual liberty in the interest of State Authority.

b) places effective restrictions on the Authority of the State in the interest of Individual liberty.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

PHfse ARETeIT @lefietdl P BRI /BRI 3Rd ?

31) HHe® daHATS! 3roieT IR .

¥) ghHes AN AfRd TErRY.

P) AT 3N HATUH daTey.

it S :

q) (31) amfor (@) weh ) (3N), () T () 3) (1) AT () 8) () 3T (&) ek
Which of the following is/are the function/functions of the Cabinet Secretariat?

a) Preparation of agenda for Cabinet Meetings.

b) Secretarial assistances to Cabinet Committees.

¢) Allocation of financial resources to the Ministries.

Answer Options :
1) (a)and (b) only 2) (a), (b) and (¢) 3)(a) and (¢) 4) (b) and (c) only

CICICRERISRCCIN R

37) ATEN AT IR Afardl PRI 1 ST ISUTTehgd dhetl S

q) I qT AfRarEr wridtes e e,

RITD! PO AU sRISR 312/ 3Ted ?

9) (31) THh ?) (@) &h 3) (a1) s (@) @t ) (3N) fobar (@) Qe A
Consider the following statements:

a) The Chief Secretary in a State is appointed by the Governor of that State.

b) The Chief Secretary in a State has a fixed tenure.

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TRATT FHfd, TRATERATS! Wiefletht Phivr IR a7 3 ?

q) TS ABATE STHT ITGIUIRT FeIT

Q) FERTSIRI T Holg PRGNS Uit

3) ISThIY FRRAT 3fOr 371fjeh a1 ForH PRUIRIS! Tl

Q) TSI SR SHASSIEUIRTS! ToT=iT

In the context of India, which one of the following is the characteristic appropriate for bureaucracy?
1) An agency widening the scope of parliamentary democracy

2) An agency for strengthening the structure of federalism

3) An agency for facilitating political stability and economic growth

4) An agency for the implementation of public policy

HERTY ST ARRY HaT GIURIET AR : HRRT JISTHROT If0T TR / €0
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Q)

9)

)

1)

Q)

&G IRBRAT AT, Wiefiatih! DU IR /7 SRR IATE /3T ?

37) T, MUTeRATHT SRITR HE 34 Fadel Pl Teb Hall M7 Afd dhaes TR FUROT=AT fasmar
UTGYRTAT SRUITATGH 30T ATl Wikl SUIRITS! -Ich el STTaT.

) 9jYo HEJ, UARIDIT FURU N, 9%&§ AT FRBRATAR Piftics [IUNTRIT T HRUTTT et
30T § G T9RRET SaudTd 3ie.

gt SR :

1) (3F) eh R) () wh 3) (3n) Smfor (@) St ) (8) fobar (@) Qe TR

With reference to the Union Government, consider the following statements:

a) N. Gopalaswamy Iyengar Committee suggested that a minister and a secretary be designated
solely for pursuing the subject of administrative reform and promoting it.

b) In 1970, the Department of Personnel was constituted on the recommendation of the
Administrative Reforms Commission, 1966, and this was placed under the Prime Minister’s

charge.
Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
GTefietidh! DI e SRR 31ed /3Med ?

) YR DS IR ARRePedra febar TERITET GRIaT TG hefl ST 2Tehdl.

¥) Thel STt eIy, STRT PRUMRAT UTTIPRUIGR MR i HfSha fdhar aresetr Sirss I ATg).
it S

q) (31) Hh ) () Wb 3) () BT () A ) (3n) fehar () I TR

Which of the following statements is/are correct?

a) Aadhaar card can be used as a proof of citizenship or domicile.

b) Once issued, Aadhaar number cannot be deactivated or omitted by the Issuing Authority.
Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

9) HTfereRRuT 31IfUr ofere

BRIG TN PROITAT eI BRIDBRI ol TRIDIT AR, fQames Sfor i fa e ieR
USH SRUIRT PRIGT R ISTee-Ted] Qlellefieh! DIvl JATTHard Sge val ?

9) P 9% ) P A 3) P 3R 8) P 88

A legislation which confers on the executive or administrative authority an unguided and

uncontrolled discretionary power in the matter of application of law violates which one of the
following Articles of the Constitution of India?

1) Article 14 2) Article 28 3) Article 32 4) Article 44

IS faeft dar wrftreRumrear devid, @relial fau™ faRTd &

37) FHIIHE GeieT cehi-T T HEAT STURIER HIthd 3101 & PHRIGHR HaT T -0l § T Se¥
3R,

¥) RIT PRICIR BRIpH foT AT JefIvamardt o oy faeft Aar mftreseur<and! anteeles o SRt
GG
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2)

3)

3)

8)

4)

it S
9) (31) Heh R) (@) weh 3) (1) 37for (@) St ) (31) fbar (9) Erer el

With reference to National Legal Services Authority, consider the following statements :

a) Its objective is to provide free and competent legal services to the weaker sections of the
society on the basis of equal opportunity

b) Itissues guidelines for the State Legal Services Authorities to implement the legal programs
and schemes throughout the country.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HRATT Pl oo ARSI (CCO) ot Yfiet drRr g ?

3T) CCO T IRA IRPRAUI PIBRIGHIIA 3ThsaRial T Al 31T,

¥) TGR Hfeeg didd/fomise st fAaprarear Wi FRieor sy,

&) PIBAT YRV BRUTAT AT FUIGALN FEUT ARBRAT SRR PIUIATE! 3TTedTe FATault
L.

) Pl QT DU fafee dooa 3 aTRepea T Pies<r IR aRaTd i el g JHfad o,

SR YA :

q) (31), (3) s7fdr (@) ) (P) MMM () Fh  3) (31) MM (I) Beh  8) (3), () 3 (%)

In India, what is the role of the Coal Controller’s Organization (CCO) ?

a) CCO is the major source of Coal Statistics in Government of India.

b) It monitors progress of development of Captive Coal/Lignite blocks.

c) It hears any objection to the Government’s notification relating to acquisition of coal-bearing
areas.

d) It ensures that coal mining companies deliver the coal to end users in the prescribed time.

Select the correct answer using the code given below :

Answer Options :
1) (a), (b) and (c) 2) (c) and (d) only 3) (a) and (b) only 4) (a), (b) and (d)

R, @lelledel P AR, |1, dI5T SRS &I Fcis Fame JREelh- Bl ?

37) TS AU holedT e A ¥) I faumr Geftg wemft after
%) fora ST ) aMfdfes & duTfer TURUM STRIRT
3) it smmT

WTetlel PIS A AT IR fHaer.

9) 31, B, S AM S Q) 31 37IfUr § Hheh )9, HINTE e ) &, S MU 3

In India, which of the following review the independent regulators in sectors like telecommuni-
cations, insurance, electricity, etc.?

a) Ad Hoc Committees set up by the Parliament

b) Parliamentary Department Related Standing Committees

¢) Finance Commission

d) Financial Sector Legislative Reforms Commission

e) NITT Aayog
Select the correct answer using the code given below.
1)a,c,dand e 2)aand b only 3)b,cand d only 4)b, dand e

HERTE IISTART ARRY HaT GEuRIeT Al : R IISTHROT ST TR /€8
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5)

&)

6)

)

1)

Grefid faum foaRm w1

37) PRITTER, RS ORI a=taw0r fFeft crawenas sfdr e mitreor i anfor o ar el
FRIAR JIfRTeard 3R,

) PURICY BRECAT $S 3de, 09¢ IR QAT ST JTHATHRUGT I B0 BRIHHTER
APAEYNT 3rfarf 3R,

RSB PIvT e sRIsR 31/ 31Med ?
9) (31) Heh R) (¥) wch
3) arar (1) 37fr () 8) qrgrel (1) febar (@) el

Consider the following statements

a) As per law, the Compensatory Afforestation Fund Management and Planning Authority exists
at both National and State levels.

b) People’s participation is mandatory in the compensatory afforestation programmes carried
out under the Compensatory Afforestation Fund Act, 2016.

Which of the statements given above is / are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TR T A @R WeRe’ (NGRBA) @t T Af¥ed) Wiefietidhl Siordt fed 2

37) TR WR ¢ FRISH STfdT v (e STz

9) g TE FORER ot HaUHrean Wt g B,

&) ST ISAMYT T e T T GRAHATIeD] U e YRR NGRBA T 31eg8] acll.

Tt S :

9) (31) omfdr (3) ek R) (3h) 37 () 3) () 3mfor (<5) 8) (31), (@) 3mfor ()

Which of the following are the key features of ‘National Ganga River Basin Authority (NGRBA)?

a) River basin is the unit of planning and management.

b) It spearheads the river conservation efforts at the national level.

¢) One of the Chief Ministers of the States through which the Ganga flows becomes the Chairman
of NGRBA on rotation basis.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

¢) R e

HRATAT AR /Teid Feiqm et Sreuarrd! sitgsaarn Jur smasad amg
9) YRAR I ?) WRARN H¥Ie 3) URAR YT 8) dorg s

The authorization for the withdrawal of funds from the Consolidated Fund of India must come

1) The President of India 2) The Parliament of India
3) The Prime Minister of India 4) The Union Finance Minister

HERTY IS ARRY HaT GIURIET AR : HRRT JISTHROT 0T TRT /9o



Q)

2)

3)

3)

8)

4)

4)

IRBR] BB ATIVIRIC! e, ADPRAT BRI AIHIIT HTH STeiell T4 Hggel ST R e
.............. I SHT HedT ST

9) YRATET MMehfAdD fef Q) IdSId @

3) YR G feft ) odT M s foyeft

All revenues received by the Union Government by way of taxes and other receipts for the conduct
of Government business are credited to the ...........

1) Contingency Fund of India 2) Public Account
3) Consolidated Fund of India 4) Deposits and Advances Fund

IRIBAAId, 3MH TSR IR PNCUS S@lel Sadid ST 'S Hepl ShHIMND thidad e
AR 3MTE. IRIh SxIVaST AIGR Pell 3 PRUT & gR AR Mg

) ISR TRl Srftee

Q) AR ITECY TS 993 AT 3T 490(9)

3) YR IoTgeTd dHetd 993

g) T STHTeQRY 37T S1eiRiched SaRATIT BIIGT, 003 T ARl

Along with the Budget, the Finance Minister also places other documents before the Parliament
which include ‘The Macro Economic Framework Statement’. The aforesaid document is presented
because this is mandated by

1) Long convention standing parliamentary

2) Article 112 and Article 110(1) of the Constitution of India

3) Article 113 of the Constitution of India
4) Provisions of the Fiscal Responsibility and Budget Management Act, 2003

STegT aTfNeh o Tedhed AlpaHd FoR gId. ATel Tl ....oo.vov.

q) 3P GUIRT P gl A1 el STl

R) IRIHH ISTTHDS YS! UIGae ST

3) eI FFHAT ST ST Hiffierel ST

8) YU HEHSOSET IS{HMT HIGR RN

When the annual Union Budget is not passed by the Lok Sabha ............
1) the Budget is modified and presented again

2) the Budget is referred to the Rajya Sabha for suggestions

3) the Union Finance Minister is asked to resign
4) the Prime Minister submits the resignation of Council of Ministers

RIc-3-3FPIIC AT SfARH Folc A PRI TRb 3R ?
37) HAGH QI RS FRIFT APRGR dTReA S, TR SARA Foic 8 Proboilarg IRDRGR aATAReA!

STOTRT RS 3.

¥) ®Ic—3MT-3MPrSC eh IRPRAT eyl Taiell Feferd 3, ok 3iaR™ eRided 7ed W
3TfT aTaeT G I ST,

R SR :

q) (31) Beh R) () &b 3) (3n) 3T (9) <= 8) (3) fohar (9) = e

HERTY ST ARRY HaT GIURIE AR - R JISTHIROT 0T eI /99
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9)
Q)
3)

4)
&)

4)

1)

)

What is the difference between “vote-on-account’ and “interim budget” ?

a) The provision of a “vote-on-account” is used by a regular Government, while an “interim
budget” is a provision used by a caretaker Government.

b) A*“vote-on-account” only deals with the expenditure in Government’s budget, while an “interim
budget” includes both expenditure and receipts,.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

(92) gHcT e, TIRAT HRATT AETHIGHRT
ITeTpia g Hfgerra e ienxor
SFRIferd STl STl
PR, SIS ARIRD I UheadTiad

a1 ATl  HIeTed fAwr
AT {R&T

q) STThIT g Afac HEHIBRT
ST RET AT DRIBHRET T .ot 3.
37) FEITHS fITRUT AT QUARATG!
9) TRECTAT e HAauarTS) sl e Fed <ot
&) THYRUHS 30T SRS IcTeal Jharral cRag ehor
gt SR :
q) (31) ST (F) Hch ) () AT () 3) (@) v () 8) (31), (3) amfor ()
The endeavour of ‘Janani Suraksha Yojana’ Programme is ...............
a) to promote institutional deliveries
b) to provide monetary assistance to the mother to meet the cost of delivery
¢) to provide for wage loss due to pregnancy and confinement

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

3) SN SRR, STl

q) JER M7 FRIUR bl gda 3for i1 IuSifderd IR AT Suetey P Ul
Q) Wa JHEHT e TR Teh T 37T T Iushifderd yafht B Sueted @ &1
3) Hg3TeT WheISHTd! T TE T 3IMOT BT AhTS DIFIRI JFa T

8) YU HORMT el FETT b PRorl AT G aRIT

HERTY ST ARRY HaT GIURIET ARR : HRRT JISTHROT TfO0T ST /03
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Q)

2)

)

1)

Q)

‘Rashtriya GarimaAbhiyaan’ is a national campaign to .....

1) rehabilitate the homeless and destitute persons and provide them with suitable sources of
livelihood

2) release the sex workers from their practice and provide them with alternative sources of
livelihood

3) eradicate the practice of manual scavenging and rehabilitate the manual scavengers

4) release the bonded labourers from their bondage and rehabilitate them

RIS ST 30T R URUTRS =ardl (9 gehrd! HI=IdT) Idal, 00€ T U9 SHeTaSIaut
IFABET TRTINIE IER TRIER DIV FAGT AlSd Tl 318 ?

9) GgieRUl, g9 30T AWM SGd HATHT Q) TR IS HAT™

3) urior faeerT HaTer ®) IMfeaRdt HHEBNT T

At the national level, which ministry is the nodal agency to ensure effective implementation of
the Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act,
20067

1) Ministry of Environment, Forest and Climate Change 2) Ministry of Panchayati Raj

3) Ministry of Rural Development 4) Ministry of Tribal Affairs

3) 3NERA, SR, CRREAD, feeamT

YRIFE] TRAT AU Shl 3Ted. DRISTIAR T HIVIAT AU ST 37Tee 2
) ARPRI IMOHE T 9¢ TG Aicha T80T,

) IR G PROINIG] S HTUT=I - arey.

P) FIol-h ARG ¥,

gt IR :
9) (31) Wh Q) (31) 31for (3) Heh
3) (31), (@) 3T () 8) () 371 () Heh

India is home to lakhs of persons with disabilities. What are the benefits available to them under
the law ?

a) Free schooling till the age of 18 years in government-run schools.

b) Preferential allotment of land for setting up business.

¢) Ramps in public buildings.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

HRA TETE YTt G/ ARTel IR SeaRedTenial ool foed™ &Tell o faey wrig i,
IHATT ?

3 T 3T Serforns HwRm TR Jnfor uenRid we 9rend.

§) YR Y IMAAY T UfHefier amasardt 1fia d_ard.

%) YA 94—l BRI o BRIG g aredT.

IR SR :

q) (31) 3mfor (9) b R) (3N) 3T () 3) (9) 3for () 8) (31), () 3y (@)
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2)

)

1)

Q)

2)

In India if a religious sect/community is given the status of a national minority, what special
advantages it is entitled to ?

a) It can establish and administer exclusive educational institutions.

b) The President of India automatically nominates a representative of the community to Lok
Sabha.

c¢) It can derive benefits from the Prime Minister’s 15-Point Programme.

Answer Options :

1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

¥) PR, S AMRS 9 Uheadriid

TRATT, HRICLR AT TRIGRU WTeflettih! DIuT YerReT ARIREHT Hthd HRIQIR JAaT UG TRl ?
9. 3. Y& YT q1fier I 3Relell @chl. 9,00,000

2. 3T U Pt a1ffer Sg= 3RTelel gRAvIeR. R,00,000

3. 9 UarT o} 1 ST 3Riciel SAR AN (83) A, 3,00,000

. 94 U AMRD

GTeflel P oo I IR ST

9) Wk 9 ST R ) Bk 3 3T g 3) R 31 3 Bk ) Beh 9 3T @

In India, Legal Services Authorities provide free legal services to which of the following type of
citizens?

1. Person with an annual income of less than Rs. 1,00,000

2. Transgender with an annual income of less than Rs. 2,00,000

3. Member of Other Backward Classes (OBC) with an annual income of less than Rs. 3,00,000
4. All Senior Citizens

Select the correct answer using the code given below:

1) 1 and 2 only 2) 3 and 4 only 3) 2 and 3 only 4) 1 and 4 only

WRAT, Wleilefieh! pIuTd TR SEnfiies fiare, s, W™ SO BITRFT HHTER Sau=iT dREFIHe e

crdset ATl ATfRelt Hepford wvet ?
9) Pl FiReTh PRI ) I 3T S IR Mg faym
3) PR R 8) R qID AT Al Horedt

In India, which one of the following compiles information on industrial disputes, closures,
etrenchments and lay-offs in factories employing worker?

1) Central Statistics Office

2) Department for Promotion of Industry and Internal Trade

3) Labour Bureau

4) National Technical Manpower Information System

4) JaT HeI0T g Prered fadrT

§) AT [RAT
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3)

3)

9)
Q)
3)

)

URAT IoTged Mg JRIBRM lefleTddh! PIvr IR disel 3md ?
37) AT ATedehIear Fia ST Fhid 51

) PREM 30T WU AT BHER ST TS
gt SR :

9) (31) Sfor (3) w2 (31), () M (F) 3) (3) I (S) 8) (31), @), (), (3)
Which of the following are envisaged by the Right against Exploitation in the Constitution of

India?

a) Prohibition of traffic in human beings and forced labour

b) Abolition of untouchability

¢) Protection of the interests of minorities

d) Prohibition of employment of children in factories and mines

Answer Options :

1) (a) and (b) only 2) (a), (b) and (¢) 3) (a) and (d) 4) (a), (b), (¢), (d)
93) A4l 8§86 STERAR™T

U] g1 ATE3eh SN g STTfores fRU

AT §28 ARETUT / W1 ey iciler arel

AT} g2 HIFPT AU Tcies —ArITerRIS fRieprer

q) 99 geBiEl ATaah SNl g STFTfaeh R

o} geRTeaT e TN St aRieiieh) pIuidT/d HId) g8 aTe/3iTed ?
37) fareurmar SrfaR.
¥) FrdS=h Add THM TR I1fPR.

P) I IMUBR.

Tt SR

q) (31) &h R) (3r) 3nfor (9) weh
3) (31), (@) 3nfor () 8) (&) 31T () weh
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Q)

2)

3)

3)

8)

Which of the above is/are Human Right/Human Rights under “Universal Declaration of Human
Rights” ?

a) Right to education.

b) Right to equal access to public service.

¢) Right to food.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

RgTefierdeh! PIUr faem aRIsR 318 ?

9) 8B g ANIRGIfvg A g 3TTed.

Q) g g fIAWIeR 3iRd S AT Hend qHIIE dhet TR,

3) T ¢ ARG ITMRvEd S 37Ted.

¥) PR g MBI fIog Prel ANRBR fAAWRIpR 3fed.

Which one of the following statements is correct?

1) Rights are claims of the State against the citizens.

2) Rights are privileges which are incorporated in the Constitution of a State.
3) Rights are claims of the citizens against the State.

4) Rights are privileges of a few citizens against the many.

WlefleTiehl PR fIerm /7 aRIeR 31g/ 378 ?

37) 'Ize ¢ & RISt 81 U J1 A1l §ep 3ATg ST YU gece Uieh G2 IT FeHId dhoted] Ja-decrd
GECaGE

9) 3¢ ¢ & R RRIciel U @I ATaST+eh ST AT QTeRIel el ABAEHNIR grgl e
RUITET SIBR .

) 'IMBC ¢ & RACH/ TR g FRUIST RIS QERIiel SR aRITgd T DIoTEl ATdST e AT JiHT
SIEZRINCR IS

gt SR :

9) (ar) amfor () & R) (31) 3T () 3) () snfor () 8) (31), (¥) 3T ()

Consider the following statements:

a) ‘Right to the City’ is an agreed human right and the UN-Habitat monitors the commitments
made by each country in this regard.

b) ‘Right to the City’ gives every occupant of the city the right to reclaim public spaces and
public participation in the city.

¢) ‘Right to the City’ means that the State cannot deny any public service of facility to the
unauthorized colonies in the City.

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

RISTEPRUITA] FSHTd, Tl Fald I AR FeU el @letiedehl PIurt BRI ?
9) ST IShATAT e g HReET

Q) TR A0

3) Iaea o U Feft

g) Faq:ar qul fdepRT rugrE Heft,

HERTE IISTART ARRY HaT JEuRiaT ARl : R IISTHROT ST10T TR /g,
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4)

5)

)

1)

Q)

2)

In the context of polity, which one of the following would you accept as the most appropriate
definition of liberty?

1) Protection against the tyranny of political rulers

2) Absence of restraint

3) Opportunity to do whatever one likes

4) Opportunity to develop oneself fully.

Miefare ST AaRtarg ATl AT oS :

9) IR FENR S &y ) FTEY

3) @Wonft AR 3ETeH ) amfdfes FreaRarg

One common agreement between Gandhism and Marxism s ...............

1) The final goal of a stateless society 2) Class struggle

3) Abolition of private property 4) Economic determinism

) HAFGl g8 HREUT/ M WeHikie drel
ETefiedeh! Pl BIIemd 5T o G- dREg Hiel ST 2

31) IR qafer ¥) PRITRHER FHHT

P) ATRIATA ATBIT STETEGRY 3) a3 AR €6

gt} SR :

q) (31) Mfor (3) ek ?) (81), (3) 3mfor (8)

3) (&), () 3for (8 ) weh 8) (31), @), (), (8)

Which of the following are regarded as the main features of the “Rule of Law™?
a) Limitation of powers b) Equality before law

c) People’s responsibility to the Government d) Liberty and civil rights
Answer Options :
1) (@) and (b)only  2)(a),(b) and (d) 3) (a), (¢) and (d) 4) (), (b), (¢), (d)

WTetTedeh! DIV BIIGT AT T Al Faid AR Fae Tfifafed axdl ?
q) SR SR RIS SRS TR T HHI SR

R) PRIGT A TR WG ATgl

3)¥A 3l TR PRIC DT PRI AN

8) PRIC DA Ieolel TR W Ulaard A

Which of the following reflects the most appropriate relationship between law of the land and
liberty?

1) If there are more laws, there is less liberty

2) If there is no law, there is no liberty

3) If there is liberty laws have to be made by the people

4) If laws are changed to often liberty is in danger

HERTY IS ARRY HaT GIURIET AR : HRRT JISTHROT 0T ST /00



3)

3)

8)

4)

)

1)

HRATAT HSHd, Wlefiertdl PIurd SIRIBR AT axied AicTlier TR Fae 31 2

9) PR Pl RERTGRT 3.

R) T JTfchep 3Ted SMIOT FEURT FHIST SATOT holedTuRyT F&sl 3.

3) ARG AfhHETAT WIS B A R g8 Hew 3Med.

) AT RIS MR g aR did) HEw@Td! 3T,

In the context of India, which one of the following is the correct relationship between Rights and
Duties?

1) Rights are correlative with Duties.

2) Rights are personal and hence independent of society and Duties.

3) Rights, not Duties, are important for the advancement of the personality of the citizen.
4) Duties, not Rights, are important for the stability of the State.

YRATAT TSHTd, @ietleldeh! PIu fauM /3 aRIeR 3T/ 3T8d ?

37) TR Pice! U TRIUT Fefd SSIRIGRIAT dednd 31 SMUT ST JIRIMT T ATel )
OifeRRT S0 dg 3.

¥) IRITRI PIce! R, WeodTaT TR Mol JfhR <RI Jadiear GaiRiar et
P A gl

gl IR :

q) (1) Beh Q) (3) &b 3) (1) smfor (@) <= 8) (31) foberr () Seiet et

With reference to India, which of the following statements is/are correct?

a) Judicial custody means an accused is in the custody of the concerned magistrate and such
accused is locked up in police station, not in jail.

b) During judicial custody, the police officer in charge of the case is not allowed to interrogate
the suspect without the approval of the court.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) A g8 "M WSkl ~IR—IerRNA A

T gHRIANIRD, ARARI ISTECdie] Wletiefidh! Pl HHT HIFd! gearedl Aafie o (9%8¢)
mefiet I SMfor aRqera wfcfee /wfifsifad e ?

9. TR

2. I YR Arigdd aw

3. Jord i

GTellel PIS aqRe Ig IR g

9) eh 9 3O R ?) Weh R 3) 9 3T 3 ek 8) 9, Q 3Mr 3

Other than the Fundamental Rights, which of the following parts of the Constitution of India
reflect/reflects the principles and provisions of the Universal Declaration of Human Rights (1948)?
1. Preamble

2. Directive Principles of State Policy

3. Fundamental Duties

Select the correct answer using the code given below:
1) 1 and 2 only 2) 2 only 3) 1 and 3 only 4)1,2and 3

HERTY ST ARRY AT GIURIET AR : HRRT JISTHROT TfO0T ST/ 9¢



Q)

2)

)

1)

Q)

AT AeHid, Wiefleid! DIu e /= SRR 3/ 3med ?

37) StegT TETeT ol gReft J1S] HiSAl el STl helel WRidt AThRdT I T8 BRur ar e/ fo=an
geara faw &,

) PErd WidR bl FRUITE I8 ARBRIE! Al FRITEe SR,

gt SR :

9) (31) Fh R) () wh 3) (3n) Smfor (@) St ) (8) fobar (@) Qe TR

With reference to India,which of the following statements is/are correct?

a) When a prisoner makes out a sufficient case, parole cannot be denied to such prisoner because
it becomes a matter of his/her right.

b) State Governments have their own Prisoners Release on Parole Rules.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

98) JAYd AMBBR, AV dxicd, ISTURUITT AFfefd aw

ey fereprR
TSIYRUTE ARfeefe aw - fareror, gferd Ricdis ors
T i
q) Jeryd feHR
WRAR ISTEed DIV Hed NMYAT erdT ehiefl T PRuIraT PRI 80T el ?
9) P 9 ) P M 3) Pt W ®) P W

Which Article of the Constitution of India safeguards one’s right to marry the person of one’s
choice?
1) Article 19 2) Article 21 3) Article 25 4) Article 29

MR STYPR & i SRIBR 37 dafthes FTTTET U ST WA 7@ FRIA 37Tg. AR
ITEEI @letlefddh! BIo a¥ie fae aRieR 3nfor araRen gid avd ?

9) o™ 98 AT ARG ¥R T govil Sl oReal

R) P 9 3T AT IV Aefiet I YR Anieeie aw.

3) Pom 9 AT T g+ AT 111 7ed

8) et QY AT TSIl 88 T ORI ST aRa.

HERTY IS ARRY HaT GIURIET AR - R JISTHIROT 0T eI / 0]



2)

3)

3)

8)

4)

4)

5)

)

6)

Right to Privacy is protected as an intrinsic part of Right to Life and Personal Liberty. Which of
the following in the Constitution of India correctly and appropriately imply the above statement?
1) Article 14 and the provisions under the 42nd Amendment to theConstitution

2) Article 17 and the Directive Principles of state Policy in Part I'V.

3) Article 21 and freedom guaranteed in part I1I

4) Article 24 and provisions under the 44th Amendment to theconstitution.

AT AT U YIRUITH FgUrsT Tl SFu iRt

9) faQeferepR Q) ufcEy 3) i ¥) faRuRT
One of the implications of equality in society is the absence of
1) Privileges 2) Restraints 3) Competition 4) Ideology

HRATT HAQH RugrET AT g Jugrn JffUdR 3ie
9) ed AfUBR Q) Nfiis IrfPR 3) geATH® ATPR ) PRIR PR

Right to vote and to be elected in India is a
1) Fundamental Right 2) Natural Right

3) Constitutional Right4) Legal Right

T geRTed] Wttt T Sufied SRYTIIYRIT AReT HGHTaTal Udh FehR 37T ?

9) IMYUNfIBgdT & Q) T JMfIBR

3) HcATHD U JIfIPR ¥) AT JfUHR

Which one of the following categories of Fundamental Rights incorporates protection against
untouchability as a form of discrimination?

1) Right against Exploitation 2) Right to freedom

3) Right to constitutional remedies 4) Right to equality

TRATT T ISR fRUdl HRI 31mg ?

9) Teh ARIREBIAT U 3Fciell PRI IRIBR

) PR Ihlel IueTel Feicll BRI ARIBR
3) Wheh ARG SUeTed] 3RFetell Heqd SAfeDR

8) T G SIUPR T PRISHR AfIBR

What is the position of the Right to Property in India?

1) Legal right available to citizens only 2) Legal rights available to any person
3) Fundamental Right available to citizens only 4) Neither Fundamental Right nor legal right

HERTY IS ARRY HaT GIURIET AR : HRRT JISTHROT 0T TR/ ¢o
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1)

)

2)

3)

3)

?) ITSTURUITRN Arfgefe aw
WRAT, AU PRIBIRUNURET aed RUaR Meer et amga

9) ISTEET IR Q) ST YR ARiGYd aw

3) Aad SR ¥) URUTR® IR

In India, separation of judiciary from the executive is enjoined by

1) The Preamble of the Constitution 2) A Directive Principle of state policy
3) The Seventh schedule 4) The conventional practice

TRART ISTgeIT Herid, Iog URUT ANedd o ... ... IR FafeT =Terdrd.

31) fou™ PRl

¥) BRIGR BRI

eI DU U™ TRIER g /M ?

9) (31) Heh Q) (@) W 3) () 3Mr () A g) () fobar (9) T AR
With reference to the Constitution of India, the Directive Principles of State Policy constitute
limitations upon..........

a) legislative function.

b) executive function.

Which of the above statements is/are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

AR ISTISAT TG BeTHHT0N I YRV fiqeres Taiaiid @letlet avdardl R .

37) ARIHS ANRDATST T ARR e JRIE Hor

¥) THIERIGR MRS

&) WHIOT AN HER SR AT <ol

) |d BIIRNIC drord! it Mol bl Feft FRIEd awur

WTefierdeh! Pror Mefardt o IsareaT YRoTT Fdee daiTed WRafid gidnd ?

q) (31 &fdr (3) B ) () 3N (D) BH  3) (30), () N (T) 8) (), (), (@), (3)
Consider the following provisions under the Directive Principles of State Policy as enshrined in
the Constitution of India :

a) Securing for citizens of India a uniform civil code

b) Organizing village Panchayats

¢) Promoting cottage industries in rural areas

d) Securing for all the workers reasonable leisure and cultural opportunities

Which of the afollowing are the Gandhian Principles that are reflected in the Directive Principles
of State Policy?

1) (a) and (b) only 2) (b) and (c) only 3) (a), (c) and (d) 4) (a), (b), (c), (d)

IR ITGSATIR WAl Do Ted SeredT HRARMS T 37ed ?
9) T IRIBR R) HeTd Faid
3) I YRV ATiedd a 8) T MMUBR 3 T FHer

HERTY ST ARRY HaT GIURIE AFRA - R JISTHIROT 0T eI / ¢4



4)

4)

5)

)

6)

7)

<)

8)

R)

9)

According to the Constitution of India, which of the following are fundamental for the governance
of the country?

1) Fundamental Rights 2) Fundamental Duties

3) Directive Principles of State policy 4) Fundamental Rights and Fundamental Duties

AR TG SIS ST AT FRIFAAT ATequdra ..... AT 3R

D IIERISICIRCSIER]] R) I YR ARfGep .

3) Terg e 8) Tadt SR

In the Constitution of India, promotion of international peace and security is included in the .......
1) Preamble to the Constitution 2) Directive Principles of State Policy.

3) Fundamental Duties 4) Ninth Schedule

T URuIAT DPSP /891 araristlt w@iefiet e foamma &

1) T AT AR -3 Nihagt TE PR

o) I TAHE IReIed] RISl PIUATRIGR AR PRV ATgia

TeficTueh! PO fe aRIsR 3Ted ?

9) (3F) weh R) () Fh 3) (3n) Smfor (@) St ) (8) febar (@) Qe TR
Consider the following Statements regarding the DPSP/ Directive Principles of State Policy:
a) The Principles spell out the socio-economic democracy in the country

b) The provisions contained in these Principles are not enforceable by any

Which of the statements given below are correct?

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
AR ISTGCAA PeduIhRI IS AT G T SITHT 3ATe.

) TR R) I YR ANGE® o

3) T T ¥) Il St

The ideal of "Welfare State" in the Indian Constitution is enshrined in its

1) Preamble 2) Directive Principles of State Policy

3) Fundamental Rights 4) Seventh Schedule

URAT ISTESIT PIUAT TN HedUIbRT oI 3neef anfid xal?

q) ISFrAT YR ARIGERp e R) JeTYd &

3) TRTET RSIcERCEEIl

Which part of the Constitution of India declares the ideal of Welfare state?
1) Directive principles of state policy 2) Fundamental rights

3) Preamble 4) Seventh schedule

9) T fIBR Q) T YRR Anfedis T

3) W JIfBR ®) PHITUTA! HHT

Under the Indian Constitution, concentration of wealth violates

1) The Right to Equality 2) The Directive Principles of State Policy
3) The Right to Freedom 4) The Concept of Welfare

HERTY ST ARRY HaT GIURIET ARR : HRRT JISTHROT 3TfO0r SR/ ¢R



90) RGN ISTECTAT WA [V A8 3Rieicd] TRAGIed] AGHId, Wietierdel PIof e /are 3ired ?
9. T IRICIIGR TN PRV Al el
2. O PIUTE —RITHITGR AR] el SR TR
3. A1 A feetel! T RISAGR DRI FHIEUIIER FHIG STl
Gl PIS Aqw TG IR FaeT
9) %h 9 ?) Heh R 3) 9 3MfOr 3 Heh 8) Teh R M7 3
10) With reference to the provisions contained in part IV of the constitution of India, which of the
following statementszis/are correct?
1. They shall be enforceable by courts
2. They shall not be enforceable by any court
3. The principles laid down in this part are to influence the making of laws by the state
Select the correct answer using the code given below

1) 1 only 2) 2 only 3) 1 and 3 only 4) 2 and 3 only
3) Jod A
99) AR ISFFSTIAR QAT DIV JeT g ATar?

q) AP FaSURHIT M ol
R) defiep guit fepRad ol
3) SIS ATt R &0l o)
) G OTe ol 37T e 3negifan 3y e,
11) Under the Constitution of India, which one of the following is not a fundamental duty?
1) To vote in public elections
2) To develop the scientific temper
3) To safeguard public property
4) To abide by the Constitution and respect its ideals .

) ETeleTdh! PV UM AR ANRBAT T Peieiared A 3ed /3Ted ?

37) g P AN FRUIRAIS! BIIGAR HishaT UGH et et 37T,

9) O PR wdeieft Fefa amed.

afft S :

9) (3F) weh ) @) HH3) () M (@) A ) () b () AR AR
12) Which of the following statements is/are true of the Fundamental Duties of an Indian citizen?

a) A legislative process has been provided to enforce these duties.

b) They are correlative to legal duties.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTE IISTART ARRY HaT GauRia At : R IISTHROT ST1OT TR / ¢3



3)

13)

IR ITECAT AN T deiedideh! v/ JMed ?

31) YT AHH IRpcirdl AYG TRAT ST PR

) AMIND SRR gal fchid IR&T ol

P) ISP Ta9Ta IO Ttepefiet wremT fIpRyd o

) Jgfchds SMOT AR FhAThTIT Ae ST SPEIRITS! I ol

q) (31) Sfor (3) W ) (31), () M (F) 3) (3N), (B) M (3) ) (), (@), (F), (3)
Which of the following is/are among the Fundamental Duties of citizens laid down in the Indian
Constitution?

a) To preserve the rich heritage of our composite culture

b) To protect the weaker sections from social injustice

c¢) To develop the scientific temper and spirit of inquiry

d) To strive towards excellence in all spheres of individual and collective activity

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

94) TG TG 826 SMRAFT —~ TAURRIRAT, THORICRIT, TRAaRt

9)
?)
3)

T T IS AT g8 MR

TG, TG, TRt

LD It e B = R 1 6 e e R A
) TACHRARAT, TAUHCRA, AR
3) SN ICUIAID, dfge, 1t 3R
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aﬂ%quﬂ?ﬁwqjqﬁm
HERIY ATMOr YRA - YR IISTHROT SOT TR

(9) ITEe Afddt - 00 ) YRR WU Jerd wRe -
Rrerd

3) AfaurRN 3% afdme
q) fRfeT Pk WAUFRN Sl d PRI -9 -3 3-

9-3 ¥) WifAUTe HRT, Al Hod d
?) Nifdems s snfor wffen Rt
-3 R
SICRIICREls! .
4-9 = ) wAfdemETe aRkfire
8) ﬁ% -8 -9 3- ¥-9 4-9 &-9
- 3) TSHAIGHI, AT
3ITIRT STfOr S
(2) SfAe™ : TRESHERE q) TEAIGEREN Ffg @ Hewre
UCﬂIS‘("‘(‘(‘qI
e, o, et 59, sod o
aferees], FHom, aiRfore 3) eI ST
-8 -3 3R
q) RN g ARAHT/ 3) HET WA de
IR/ Sgerafet - YfieT 9 o
B v) fafy fTReeATeT® Al T, des
-9 -9
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